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1. This Question Booklet contains 100 questions with weightage of

THIS QUESTION PAPER

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
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1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5 option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.
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Which figure will come in the place of

question mark (?) ?

RPREIRE
w | 2 ®)
© | (D)

(E) Not attempted

R

ol

Which of the following is not correctly
matched ?
(A) 1 GB=1024 MB

(B) 1 TB=1024 GB
(C) 1YB=1024 GB
(D) 1 EB=1024 PB
(E) Not attempted

Who was the founder of the Satavahana
dynasty ?

(A) Simuka

(B
(C
(D
(E

Gautamiputra Satakarni
Vashishtaputra Pulamayi
Hala

)
)
)
) Not attempted

If S denotes x, P denotes —, R denotes +
and Q denotes +, then
14641Q121P100S2R100 = ?

(A) 48 (B) 31

(C) 61 (D) 21

(E) Not attempted
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W Torg (?) % T W RA-Tf TR
HARAf 7

Al Lb ] 2
w | 2 ® | o
© | (D>\®

(E) 3mwanfEa

Fraforfaa & @ sF-ar @ gofera 78 & 7
(A) 1 GB = 1024 MB
(B) 1 TB=1024 GB
(C) 1YB=1024 GB
(D) 1 EB=1024 PB
(E) 3=t

HTdeTed TSI T TR T AT ?
(A) fomH

(B) Tiatig FTaehvft
(C) af¥rsay gt
(D) BT
(E) STwmfEa
If¢ S, x I AT 7, P, — <! QU &,
R, + oI ST & AAT Q, + I gIaT 7,
14641Q121P100S2R100 = ?

(A) 48 (B) 31
(C) 61 (D) 21

(E) 3=nfEa



B

5.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

(A) (B)

]

(©) (D)

(E) Not attempted

Consider the following statements related
to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Only statement 1 is correct

(B) Both statements 1 and 2 are correct

(
(D
(E

)
)
C) Only statement 2 is correct
) Both statements 1 and 2 are incorrect
)

Not attempted
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5. W H € T 3Mq % Fed I ferehedt |

& TS BT Rl g w7

?
(A (®) Yl
(C) (D)
(E) 3m=nfEa
TR & Y3R Y Fefq fyefeiaa el
T fomm Fifse :

FUA1: T8 qd | ufeaH =re IR ufyeaw o
ooff ame & o 2

HUA 2 : Y T1e 6 gorr § ufvedt =
3Tk FamE W 2 3R ek TR 2 |
I § | HIA-T1/T HeH & 8/8 ?
(A) el U 1 TE B

(B) A 1 3 2 I Tl &

(C) *harel A 2 TE B

(D) eH 1 3R 2 gHT Tl & &

(E) ITomfra



10.

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(B) Panchkula

(D) Chandigarh

(A) Gurugram
(C) Faridabad
(E) Not attempted

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.

14,14, 28, 84, 336, x

(A) 1682 (B) 1344
(C) 2016 (D) 1680
(E) Not attempted

The concentric circles on the platter of
hard disk are known as

(A) tracks
(C) sectors
(E) Not attempted

(B) circles
(D) none of the above

Find the correct mirror image.

) Not attempted
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RO TS SfEnfies ud AIEEAT
TorehT PR (T, TE. 37637 SLHT.)
o™ HfRER
(A) eI (B) ket
(C) wilgrETg (D) =rgiTg
(E) ITvfra
T e G TS 2, T ueh g I € |
feu Tu fospedi ® @ 97 @El fosheq e S
SRGAT <l T T |
14, 14, 28, 84, 336, x
(A) 1682 (B) 1344
(C) 2016 (D) 1680
(E) ITvmfra
TTE feth & wiet W Hehfgd Il 1

% ®9 H SHET ST 2 |
(A) (B) wehet
(C) & (D) SWI # & IE T
(E) 3ranfEa
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11.

12.

13.

14.

15.

Which of the following is the smallest
negative integer ?
(A) =2

(C) o

(E) Not attempted

The first jute mill was set up near Kolkata

at Rishra in
(A) 1855 (B) 1854
(C) 1856 (D) 1857

(E) Not attempted

What is the value of sin 90° x cos 0° ?

(A) O (B) \/Eé
1

© Yo (D)
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca _b _aabc_a _caa

(A) acab (B) ccab

(C) cbab (D) bcbb

(E) Not attempted

The 915 Amendment Act of Indian

Constitution was brought in
(A) 2001 (B) 1989
(C) 2000 (D) 2003

(E) Not attempted

11.

12.

13.

14.

15.
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fFafafad 4 9 SH-91 G99 BT R/ncHS

qUrieh & 7

(A) -2 (B) -1

(C) o0 (D) -3

(E) 3anfEa

SHIcTehTdT < I TR | ggelt ¢ e
 gEyiuya B TS oft |

(A) 1855 (B) 1854

(C) 1856 (D) 1857

(E) ITvmfera

sin 90° x cos 0° &1 T &1 & 7

(A) 0 (B) ﬁé

© Yo (D) 1

(E) ITvmfra

frfeiaa s1er sfeet § $9 31/ o< 2
T 3Tk A1 forehed o &9 1 39 59 § feu
T E | TE faehed I |

bca b _ aabc a _ caa

(A) acab (B) ccab

(C) cbab (D) bcbb

(E) 3manfEa

T Gigeme =1 9197 gunya srfufem
IR

(A) 2001 (B) 1989

(C) 2000 (D) 2003

(E) 3manfEa



B

16.

17.

18.

Who is the head of a Gram Panchayat in
Haryana ?

(A)
(B)
C)
)
)

District Collector
Sarpanch

(C) Panchayat Secretary
(D
(E

Block Development Officer

Not attempted

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions 2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(B) 2000
(D) 4000

(A) 1800
(C) 8000
(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a

logical and meaningful order.
1. Scrutiny

Application

Interview

Job offer

o > 0 b

Joining

1,3,2,4,5
2,4,1,5,3
3,1,5,4,2
2,1,3,4,5

(A)
(B)
(€)
(D)

)

(E) Not attempted

16.

17.

18.
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FRETOT U YR < GRE i BT 8 7
(A) Toremefiar

(B) T

(C) U= gfad

(D) @g faepm At

(E) 3romfya

Teh AL Rl TR 40 m, 25 m 3T 10 m
F1aAsT2m x 1.25m x 1 m =AW a1
TR SRl § W ST ], 91 W AW 9Tl
ST <l T 2
(A) 1800

(C) 8000
(E) 3=

(B) 2000
(D) 4000

Tl forsheq 1 = KL S drfehes 3R
1Y 0 H fraforfaa sergat St sgawen
1 SfiTd e & |

1. gata

2. A

3. ATTHR

4. R0 gEATE

5. e BT

(A) 1,3,2,4,5

(B) 2,4,1,5,3

(C) 3,1,5,4,2

(D) 2,1,3,4,5

(E) TSR



B

19.

20.

21.

22,

23.

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Farmers ploughing fields

(B) Singers and musicians travelling on a
bullock cart

(C) Kings in a battle

(D) Women performing folk dance

(E) Not attempted

The value of 4\/§/272 is

(E) Not attempted

Which number system uses only digits
Oand1?

(A) Octal

(C) Decimal

(E) Not attempted

(B) Hexadecimal
(D) Binary

Complete the following analogy.

8:24::7:32
(A) 5 (B) 8
(C) 10 (D) 6

(E) Not attempted

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Brother

(B) Uncle

(C) Cousin

(D) Data is inadequate

(E

~ ~— ~— ~—

Not attempted

19.

20.

21.

22,

23.
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g % stemen fye @ gu § O 78 U
afd fFrferfaa & & = goiidt 3 2

(A) @A Srddl o

(B) SIS W AT hid T IR Efast
(C) T g | T

(D) THTT I §T Al

(E) 3Tomfya

4302 o1 7 2
(A) 2716
) 28

(E) 3m=nfEa

I GEAT YU shaed 0 3T 1 3Tk hl
ITINT BT & 7
(A) (B) BeTSHS

(D) T

frefTRea Twewar qui shifere |

4::7:32
5 (B) 8
10 (D) 6

Teh TR <l I SRR A Y, A1 ! 2,
‘g8 T <[el % Tehelld o 1 ST B |7 A&
1 few © = o1 o O = GEy § 7
(A) Wi

(B) ==
(C) == WS

(D) AHHRT AT B
(E) 3Tomféa



24.

25.

26.

27.

28.

The decimal form of 12—1 is

(A) 0.018
(C) 0.18
(E) Not attempted

(B) 0.18
(D) Not defined

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 1982

(C) 2002

(E) Not attempted

(B) 1987
(D) None of the above

The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Karnal (B) Ambala

(C) Yamunanagar (D) Panchkula
(E) Not attempted

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.

CONSTRUCTION
(A) SUCTION

(C) NOTION
(E) Not attempted

(B) COINS
(D) CAUTION

A can complete a job in 12 days and B can
complete the same job in 18 days. If they
work together, how many days will they
take to complete the job ?

(A) 6 days (B) 8 days
(C) 7.5 days (D) 7.2 days

(E) Not attempted

24.

25.

26.

27.

28.

CE7G -25
%www%
(A) 0.018 (B) 0.18
(C) 0.18 (D) IrufeTiva
(E) 3=nfEa
TS By 3R 7T foehrE de ([TeTE) i
AT fopm o o i g oft ¢
(A) 1982 (B) 1987
(C) 2002 (D) ST T | hIS T
(E) 3
BT 6 TeE S =S, wUE =G,
fra S i fem g 7
(A) HETA (B) &
(C) IYTTHR (D) wegeT
(E) 3t
frefafaa wea = fashed @ @ 98 weg H
ST feu TTu STeg % 37eAT ST ITANT Hih
T ST ST HehaT 7 |
CONSTRUCTION
(A) SUCTION (B) COINS
(C) NOTION (D) CAUTION
(E) ITvmfra
AT 1 ol 12 Tl § QU o wehal & a1

B 3 %l w1 18 Tl o qU KX Hehal 7 |
afe 3 g1 Tk F1Y T HY, B T HH

H 35 fohe e @ 7

(A) 6 e (B) 8fed
(C) 7.5 T (D) 7.2 T
(E) 3Tvmfya



29.

30.

31.

32.

33.

Complete the following analogy.
ACE:FHJ::0QS:

(A) PUT (B) RTU
(C) TVX (D) uwy
(E) Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to
Gwalior Gharana ?

(A) Amir Khusro

(B) Tansen

(C) Haddu Khan

(D) Bade Ghulam Ali Khan

(E) Not attempted

Central Institute for Research on
is situated at Hisar district of

Haryana.
(A) Tiger (B) Buffaloes
(C) Deer (D) Crocodile

(E) Not attempted

Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(B) Narnaul
(D) Hisar

(A) Gurugram
(C) Karnal
(E) Not attempted

Which type of language was used in
Second Generation Computers ?

(A) Machine language
(B) Assembly language
(C) High level programming languages
(D) Obiject oriented programming

)

(E) Not attempted

29.

30.

31.

32.

33.
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freferfea awedar o Hifse |
ACE : FHJ : : OQS :

(A) PUT (B) RTU
(C) TVX (D) UWY
(E) 3=nfEa

frafafiga 5 9 H arfe=r ==t 9
g & e gftg @I T 9 7

ghEmT 1 R gt ugt @i faeiae
gaTs Uel off hET ST ® 7

(A) TRIT™ (B) I

(D) femm

ol Nt o heged § fohd wehR i wrn
T 39T foparm T o ?

(A) TR 9N

(B) 3THAT W

(C) =9 T TUEAT HroTd

(D) 3fssiare SATNTUES T

(E) 3=nfEa



34.

35.

36.

37.

Excavations at which site in Fatehabad
district of Haryana have revealed
pre-Harappan culture ?

(A) Banawali

(B
(C
(D
(E

Kunal
Mittathal
None of the above

~ ~— ~— ~—

Not attempted

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

(A) Af

(B) BSh
(C
(D
(E

Df
Am
Not attempted

~ ~— ~— ~—~

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 2016|2017(2018|2019 (2020

Population| 15| 18 | 21 | 24 | 2.7

(A) 1 million
(C) 1.5 millions
(E) Not attempted

(B) 1.2 millions
(D) 1.8 millions

Which traditional ornament worn by
married women in Haryana is a silver ring

worn on the toes ?
(A) Payal
(C) Pali

(B) Bichhiya
(D) Jhanjhar

(E) Not attempted

-10-

34.

35.

36.

37.
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BT & HagreTe ool d fohd T W
GeTs | S -§SWT HEH(d 1 AT IAT B 7
(A) SHTEE

(B) UM

(C) T

(D) 3T # § s T

(E) TRt

I HT JUTeAT o FITHN TR STHETET
% SRS WA ! AR fohaT ST
(A) Af

T arfetent 5 a6l § U WL <l SHEEAT
(fuferer #) eriet 8 | 2016 & 2020 a6
e § fha A5 gE 7§ 7

Er] 2016 [ 2017 | 2018 [ 2019 | 2020
SaE | 15 | 18 | 21 | 24 | 27
(A) 1 Tuferm (B) 1.2 faferm

() 15fafemm (D) 1.8 fTaferm

(E) ITofra

gl ¥ foenfza afgansti gra | H
3nferal ® U AfEt 1 ST S TE T S
TAT ST R 7

(A) I (B) ferfean

(C) reft (D) 3R

(E) 3Tvmfya



38.

39.

40.

41.

42,

What does ROM stand for ?
(A) Random Output Memory
(B) Read Only Memory

(C) Ready Open Memory

(D) Random Operations Memory

(E) Not attempted

This protected area contains one of the
last surviving remnants of Delhi Ridge hill
range

(A) Bhindawas Wildlife Sanctuary

(B) Asola-Bhatti Wildlife Sanctuary

(C) Nahar Wildlife Sanctuary

(D) Abubshahar Wildlife Sanctuary

(E) Not attempted

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema'’ title by British
Government in 1904 ?

(A) Naubhar Sabir

(B) Altaf Hussain Hali

(C) Jaimini Sarshar

(D) Khwaja Ahmad Abbas

(E) Not attempted

Which city in Haryana had the first metro
rail ?

(A) Mahendragarh (B) Hisar

(C) Gurugram (D) Kaithal

(E) Not attempted

The Article 23 and 24 of Indian

Constitution are related to

(A) Right to Equality

(B) Right against Exploitation

(C) Right to Freedom

(D) Right to Freedom of Religion
)

Not attempted

D
(E

-11-

38.

39.

40.

a1.

42,
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N3N, R 8 ?
(A) Teu 38eqe T

39 T &7 | ool wadie goft &
sifem FAfETcae™ a § ¥ T B
(A) TreEmE a=sia sEmes

frafefaa @ @ #F gfemn w1 v gfirg
3¢ YRR o1, 58 fafes awhr g 1904 1
T -3A-IAHT T I < 7S oft 7
(A) TR TR

(B) e EET BTl

(C) Aftrft T

(D) IS 378HE TeSTd

(E) 3m=nfEa

g % fre st § veelt #7e1 W IE
&1 T oft 7

(A) TG (B) feam

(C) TeU™ (D) Y

(E) ITymtyd

AT FT9™ o T 23 3R 24 fhaa
e 8 ?



43.

44,

45.

46.

A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 10,000
(C) Rs. 13,000

(B) Rs. 11,000
(D) Rs. 12,000
(E) Not attempted

Which of the following is an example of
an Input Device ?
(A) Printer
(C) Monitor
(E) Not attempted

(B) Speaker
(D) Keyboard

What is the role of the Haryana

Renewable Energy Development Agency

(HAREDA) ?

(A) Managing coal-based power plants

(B) Enforcing the Energy Conservation
Act, 2001

(C) Providing electricity to rural areas

(D) Promoting solar panel imports

(E) Not attempted

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 30,000
(C) Rs. 15,000

(B) Rs. 50,000
(D) Rs. 40,000
(E) Not attempted

-12-

43.

44,

45.

46.
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T o H 25% i ghg i I & 3R
1 | T A BT 20% I foran Srar 8 |
Ife 3Afam 999 &, 12,000 =, 1 ITEdfeh
AT T AT 7

(A) ®. 10,000 (B) ®. 11,000
(C) &. 13,000 (D) &. 12,000
(E) 3=nfEa

freafefad & @ &9 399 feama &
SR E 7

(A) Trex (B) Tt

(C) AT (OEIELE

(E) ITvmfra

gl Aeftentoiia et foehe T

(T, 0.3TR.3. €11, ) T o= qftrehT 8 7

(A) I MR Soll TIAT BT TSLH
(B) Soft wa1or 1ff=m, 2001 =1 Jardq
(C) T &t H faega Sucted shHT

(D) ER 1 AT <l SGHT

(E) STmfEa

T ASTRBUS @™ H3:5%
31U & frow #a & | 99 % 37 # 3=
%. 40,000 T ATH HART | ATH |

A w1 Tepam T & 7

(A) %. 30,000 (B) %. 50,000
(C) %. 15,000 (D) %. 40,000
(E) 3m=nfEa



47.

48.

49.

50.

51.

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Ambala (B) Panchkula
(C) Yamunanagar (D) Kurukshetra
(E) Not attempted

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Maharashtra
(C) Guijarat

(E) Not attempted

(B) Madhya Pradesh
(D) Rajasthan

If Rs. 8,000 invested at a compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 25% (B) 10%

(C) 17.5% (D) 5%

(E) Not attempted

Phalgu tourist place is located in which
district of Haryana ?

(A) Kaithal (B) Mahendragarh

(C) Jind (D) Jhajjar

(E) Not attempted

How are computers used in

Communication ?

(A) Through CAD applications

(B) For advertising and home shopping

(C) Via e-mail, video conferencing and
chatting

(D) For managing budgets and payrolls

(E) Not attempted
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47.

48.

49.

50.

51.

CE7G - 25

f=fafga 9 9 gf@mon s sH-a1 fSen
A TSI o G 379 T ErE o B 7

(A) FrsTeT (B) ke
(C) IR (D) FE&
(E) ITvfra

gftrg rerar e, 5 S Terd
et 8, forg yRdlg o | fa 8 7

(A) HENTSE (B) WL G
(C) TSIUd (D) TS&ATH
(E) 3=nfEa

I %. 8,000 I ThalG = & Fram w
T 399 o1 IS o ®9 H %. 1,261 I &l
2, d IS SIS W R 7

(A) 25% (B) 10%

(C) 17.5% (D) 5%

(E) 3=nfEa

g % fopa et O wet] weied T
fRag e

(A) I (B) WRFTE

(C) Sfiq (D) FSS

(E) r9=mfaa

TR T et 1 I Ha foharm ST 2 7

(A) CAD 3TTSRINT o Hea o

(B) Tz 3R gm wiifim & ferg

(C) 3-Td, =ifea swipifam 31K =fén &
ey o

(D) SS1¢ 3R U & J&EF & Iy

(E) 3Tomfya



52.

53.

54.

55.

The largest concentration of green house
gases in the atmosphere is

(A) Methane

(B) Chlorofluorocarbons

(C
(D
(E

Carbon dioxide

Nitrous oxide

)
)
)
) Not attempted
IfA:B=3:2andB:C =3:5, then
A:B:Cis

(A) 9:6:10

(B) 10:9:6

(C) 6:9:10

(D)

(E)

None of the above
Not attempted

Which canal system of Haryana
originates near Nangal and irrigates Sirsa
and Hisar ?

(A) Eastern Yamuna Canal

(B
C
D
(E

) Gurugram Canal
(C) Bhakra Canal
(D) Jawaharlal Canal
) Not attempted

A person incurs a loss of 10% by selling
a watch for Rs. 450. At what price should
the watch be sold to earn 10% profit ?
(A) Rs. 500
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52.

53.

54.

55.

CE7G -25
qIgFed § I &9 191 6l gey §
Higdl &

(A) HEe
(B) FAFARIIET

FITOM <1 S -T T8 JuTeft TTet <
e o freperdt g 3 e 3 feam =t
Tofera st 8 72

Teh SAfekd ohl Teh TSI 450 T H S=+ W
10% 1 &1 It & | 10% A1 HAH &

fou wt w1 fope shimd ox = ST =R ?
(A) . 500

(B) %. 600

(C) ®. 550
(D) &. 750

(E) 3Tomféa



56.

57.

58.

59.

60.

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Rohtak (B) Hisar
(C) Karnal (D) Panipat
(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Pataliputra
(C) Delhi

(E) Not attempted

(B) Kannau;j
(D) Mathura

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) North-eastern States of India

(B
(C
(D
(E

) North-western States of India

) Coastal Kerala

) None of the above

) Not attempted

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Babur

(B) Firoz Shah Tughlaq
(C) Sher Shah Suri
(D) Akbar

(E) Not attempted

A person travels 120 km in 4 hours. If he
increases his speed by 10 km/hr, how long
will it take him to travel same distance ?
(A) 2 hours (B) 2.5 hours

(C) 3 hours (D) 3.5 hours

(E) Not attempted
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56.

57.

58.

59.

60.

CE7G-25
TR 5 HeE 3T SA0 FIEUH HEIH,
T 5 fed sReer (W 2am.aTE. )
g & frg TR g R g 7
(A) T (B) feam
(C) HHTA (D) 9rua
(E) r9=mfaa
Y 9 19 T U 8 SR Eaia
(A) dTeferg (B) el
(C) faeeht (D) mIT
(E) 3ranfEa

T Ug o Py, T e woem et
gl AT 8, hal Jetd & ?
(A ) WRA o IT-Te T

(B) YRA & IT-UfT=fl T

(C) T A

(D) U | & HrE T
(E) 3ranfEa
g & fEam 1 U geT et % €9 o
TTfUd i 1T T8l ITEeh hid AT ?
(A) st

(B) TSt 38 qiTeteh
(C)mga

(D) 3AhsiT

(E) 3anfEa

Teh =faq 4 5 § 120 Tl <Y aImm wtan
2 | afe a7 31 T 10 feet /= s@
T 7, A 99H gt a9 e | 3 foRa
I A 7

(A) 2% B) 2.5%¢
C) 3 D) 3.5%¢
(E) 3anfEa



61.

62.

63.

64.

Where is the Indo-Israel Horticulture

Project located in Haryana ?

(A) Gharaunda (B) Uncha Majra

(C) Panipat (D) Sirsa

(E) Not attempted

The author of the important musicological
text ‘Sangita Ratnakara’ is

(A) Pandit Haridas

(B) Tansen

(C) Sarangadeva

(D) None of the above

(E) Not attempted

Which dance form of Haryana is named

after an ornament worn on the forehead
by young married women ?

(A) Ghoomar (B) Jhumar
(C) Loor (D) Gugga dance

(E) Not attempted

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%

and 10%. What is the final selling price of

the item ?
(A) Rs. 1,530 (B) Rs. 1,500
(C) Rs. 1,510 (D) Rs. 1,520

(E) Not attempted
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61.

62.

63.

64.

CE7G - 25

R # gel-SoREd ST qRESET
el fr 2 7

(A) =ier (B) =1 A
(C) urua (D) Tz
(E) JT9=mfea

HEcul FitaeeE I G T

(A) Ufed gle™

(D) 3w & & IS T
(E) 3m=nfEa

BNATON & -8 T Bl THH Il
foanfea nfgensti g0 MY W vgd W a1
Ted T fepar T R 7

(B) =
(D) T

Teh GhMGR Teh %] T %. 2,000 3ifehd
AT 8 AT 15% d 10% hi Shieh T <al
2 | 9% 1 3ifem fasha goa = B0 ¢

(A) ®. 1,530 (B) %. 1,500
(C) ®. 1,510 (D) %. 1,520
(E) 3=nfEa



B

65. Which of the following diagram indicates

66.

67.

68.

the best relationship between German,
French, Languages ?

O

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 44™ Amendment

() 87" Amendment

(C) 42" Amendment

(D) None of the above

(E) Not attempted

(A)

(©)

@ ©

(E) Not attempted

Haryana ranked among the bottom five

States in which report released by

NITI Aayog ?

(A) State Investment Index 2025

(B) Fiscal Health Index 2025

(C) Sustainable Development Goals
(SDG) Report 2025

(D) Ease of Doing Business Index 2025

(E) Not attempted

Which of the following is true for
x=3-27 2

(A) x=3 (B) x=-3
(C) x=0 (D) Undefined
(E) Not attempted
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65.

66.

67.

68.

CE7G - 25

FfcTiad o § -9 @ 5, %
3R WISt o s gaiaq 9y Sidr 8 ¢

(E) 3=nfEa

TR Higa™ o forg genem 3 Hifers
Shaeal bl U foham ?

(A) 44 91 GeMEH

(B) 87 & TN

(C) 42 |IeH

(D) 3ugH  H 1S T

(E) TR

Fifa s g I wE- e 0
giemon <1 3ifew aiw Tsat § e fen
TR 7

(A) T=T FHaw1 F=hish 2025

(B) TSIV T gehlsh 2025

(C) Taa foreprma o1& (wq.€Y.5ft.) T
2025

(D) 39 3AT® T3 fored 29 2025
(E) ITvmfra

x = Y-27 % feru fy=faRaa o 4 -
AR ?

(A) x=3 (B) x=-3
(C) x=0 (D) IrufeuTia
(E) ITvmfra



CE7G - 25

B

69. In the following question, a statement 69. = ﬁ‘«’Q T g9 o T 31T 2 fosd FQ’Q Bl
followed by 2 conclusions is given. 3\ ar udl o ﬂﬁ S few Tu T
Choose right conclusion which logically ’

qTfeheh 9 & ITLE AT & |
follows the given statement. 8
Statement : Morning walks are good for hUT : I 1 & T % o =
health. Il 2 |
Conclusions : |. All healthy people go freepd © 1. Tft TRy @ gag f MW
for morning walk. 4 @ |
[I. Evening walks are I1. ST <61 B BT § |
harmful.
(A) hael TIshY | 3TTET0T AT B
(A) Only conclusion | follows
(B) Only conclusion Il follows (8) Il 31 E
(C) Both I and Il follow (C) I 3T Il ST STTHT hLd &
(D) Neither | nor Il follows (D) 9 ar T JETOT hIdl 2
(E) Not attempted (E) ST

70. In which year Social Forestry Scheme 70. EREON 4 gETteIe anfieh! T e 9y
was started in Haryana ? NS $1 TS oft 7
(A) 1982 (B) 1980 (A) 1982 (B) 1980
(C) 1996 (D) 1999 (C) 1996 (D) 1999
(E) Not attempted (E) 3t

71.  Which major river forms Haryana’s 71. ®E-H U ! ERATON <l et HiHT
eastern boundary ? ST B 7
(A) Sutlej (A) |as
(B) Yamuna (B) I
(C) Ghaggar (C) =R
(D) Saraswati (D) HTEel
(E) Not attempted )

Y -18-




B

72.

73.

74.

75.

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains

the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?

(A) Only statement 1 is correct

(B) Only statement 2 is correct

(C) Both statements 1 and 2 are correct
(D) Both statements 1 and 2 are incorrect
(E) Not attempted

What is the value of 10— (2x 3) +8 + 2 ?
(A) 8 (B) 6

(C) 5 (D) 7

(E) Not attempted

Which of the following is not true for a

parallelogram ?

(A) Opposite sides are equal.

(B) Opposite angles are equal.

(C) Opposite angles are bisected by the
diagonals.

(D) Diagonals bisect each other.

(E) Not attempted

What is the historical name of Markanda
river in Haryana ?
(A) Varuna

(C) Saraswati

(E) Not attempted

(B) Sharana
(D) Aruna
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72.

73.

74.

75.

CE7G - 25

Tufe 7 o 91§ FEfaRad seAt
formm HifSTw

HUA 1 : WSH TE T (AR.U.TA. )
HFER 2, e qoh R I fosfett il g
1 Il B, d9 deh I8 TIH T hl §41C
TEdl 3 | Al S & forareht <1 ammafd sg
Bl S 2, Ve Y T (TR, )
it fower-eg fire ot 2 |

HUA 2 : egH THHY T (AR.T.H. ) I
AR W T HARY < €9 § Fehid o
AT & 3R I8 fedias amd I &
feamga <1 gt & o Bl B |

S # & wH-H1/H Y T 2/E 7
(A) had HIH 1 98 2

(B) haeT YT 2 TEl &

(C) o 1 3R 2 SHi el &

(D) o 1 3R 2 SHI @l T &

(E) 3=nfEa

10-(2x3)+8+2H AH AT & ?

(A) 8 (B) 6
(C) 5 (D) 7
(E) 3m=nfEa

THIR =gy o fore fmfotfaa § & -1

qc T8l 8 ?

(A) THE STE SR Bl € |

(B) THIE@ IV ST B ¢ |

(C) Tareputt g1 ¥V @ hivT a9 fawiioa
B E |

(D) ferpol weh e b1 T forfora e 2 |

(E) 3m=nfEa

RO T Aeher AE1 o1 UfaTies A
R 7

(A) =T (B) =wom

(C) aT&adt (D) 3T&UT

(E) 3=nfEa



76.

77.

78.

79.

80.

CE7G - 25

English Language

Choose the correct meaning of the
following idiom or expression.

Piece of cake.

(A) A job, task or other activity that is
easy or simple

Join a popular trend or activity
Would never like to do something
Feeling slightly ill

Not attempted

(B
(C
(D
(E

~— — — —

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money
(A) Bring to the car park the money.
(B) Car park to the bring the money.
(C) Bring the money to the car park.
(D) The money bring to the car park.
(E) Not attempted

Choose the correct antonym of the
following word.

Ascend
(A) increase (B) descend
(C) expand (D) arrive

(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) I'am angry for you.

(B) I'am angry in you.
(C) I am angry with you.
(D) I am angry to you.
(E) Not attempted

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you

against this beforehand ?”

(A) His friend asked him did he not
warned him against that beforehand.

(B) His friend asked him if he had not
warned him against that beforehand.

(C) His friend asked him if he did not
warned him against that beforehand.

(D) His friend said to him if | had not
warned you against that beforehand.

(E) Not attempted
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81.

82.

83.

84.

85.

Choose the correct synonym of the
following word.

Pause
(A) Start (B) Safe
(C) Staff (D) Stop

(E) Not attempted

Give one word substitute for the following.
The study of plants is called

(A) Bacteriology (B) Astrology

(C) Sericulture (D) Botany

(E) Not attempted

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Lazy

(C) Sleepy

(E) Not attempted

(B) Fat
(D) Ignorant

Choose the correctly spelt word.
(A) Personnel (B) Perssonal
(C) Personel (D) Parsonnel
(E) Not attempted

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks are handled efficiently by
her.

(B) All tasks were handled efficiently by
her.

(C) All tasks have been handled
efficiently by her.

(D) All tasks are being handled efficiently
by her.

(E) Not attempted



86.

87.

88.

89.

TG, HURGAT, YT (e e

19T o I9ET 2 |
(A) T
(B) %
) f&=d
(D) ST
(E) 3Tt

“feR qerd € 3Tt USAT’ 39 Arehifad 1
e Fd R 7

(A) T Bl THIUT STTFIIhdT Tal |

(B) ST IR BId & fared 3m e |
(C) fomm =1 & ™ & M |

(D) 1=t o | 3T 07 BT |

(E) 3Tsmted

e’ T Toum weg 7 | Fefafaa wegi
T ¥ 3HH! TE qeud I16g IR fofau |

(A) & (B) T
(C) =T (D) T
(E) 3Tt

90
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92.

93.

94.

CE7G - 25

. ‘A ol SR | e ?’
T v ¥ fefafad g 7@ 4 @ @@
s8I i AR Tt |

(A) FIT-FT

(B) U-TTY

(C) HiR-¢R

(D) SFTE-T

(E) 3manfEa

g 37 WA I ea] bl 91 HEd B ?
RRIPEIEIRIC

(B) ferci wrsg

(C) T wIsq

(D) 3T & g &

(E) Rt
FrafaRea wegi o @ “Td’ =1 T wIsg
T |
(A) <@

(C) &ud
(E) 3=nfEa

(B) fazau
(D) gHuT

I
(B) 3xA
(D) 3TTea

‘AL TeE HT T A
(A) =

(C) I

(E) 3Tvmfya

‘St <ftd et &1’ 38 AP B 7
(A) 3¥did

(B) g™

(C) geiw

(D) AT

(E) 3manfEa



B

95.

96.

97.

“Heaeh BEl 4 ey forgad 2 17 U8
T fope Tsham oh1 Il 2 7

(A) gmET= (B) IoYh
(C) eI (D) 3Tuf
(E) 3=nfEa

I TS AT |” Th AU 7, 39 Hal
F1ef o fafim |

(A) ET BTG & |

(B) T $<hR HET |

(C) F® & T &M |

(D) Sgd fRreT 81 ST |

(E) 3TfEd

CE7G - 25

98. WIIATHh TRl whl BIgH Tl TN &

99.

100.

eI o 37d H oo =1 TR
fopam ST 2
(A) T

ST foreryor fopeft =afer, smoft srean swq A1
T U e o=t 1 Y U, 3=
_ foRmu wEd § |

(A) TTHTUETES

(A) < (B) T
(C) 9f& (D) =]
(E) ITvmfra

-29.
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SPACE FOR ROUGH WORK
T 1 < foTu Tm=

-23- Q



e

JE IR AKX XK K KKK K K

CE7G - 25X 3

9.

15.

16.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

20.

avreff ol oI U TeRT-us o B, o W g € | i wen vfA
B S T -G B, W I W e g =T & B foran gan
R 3Hh NG BIA o 3T Th U0, S b grsfem emgdg,
TAeal UNET-TH, JMUR HlS, TdE 37 T & s Th  Tefl-shg T
AT FAER B | 3T sl i uden & i FEtd w6 & Sl |

Sl 1 Femg § S 2 T 3 glftea S 6 3N i L am.
I Ok W 3neeff st AW, T <hT T, HIAT <1 T, TR g 6
e, e s faf, T, Tet wg%wawasﬁw%mq
Feereort bt fora & Fopell o SR 1 e T B W aref]
@Wﬁgﬁ%%@m@%lg&ﬂ%ﬁmmm
%w@ﬁﬁnﬁwmﬁmﬁma& Iufeafa-w=reh
W, 3M.TH.3N. IR T W 3R TEmies aeia § o 3k st
TR T EE o R |

. il Rl =raTert &t ST 2 foh o 3N UL 3R, SR wereR | foRe oft

TR <1 9T 7 SATE 37 1 €1 38 HIE | o7 UH. TR, ST U= H $9 oft
forEm 3R s o Uy 39 e o fore e, Arem, s, athe we
uenel /amgeR 3ife o T o fereht o1 TR | 3@ arfd uge mEE
e 21 37 g eTl o TEINT © TR U A1 37 UH. AR, ST U | e
U2 B W, TR o (9 2w an afd g o st it srvaferar sk
3T TH.3TR. I U=k 1 & e e e s

SRR 1 =t & W ® o6 o wATer, Histee B, TRt o TR <
Y, See, Soldriieh A1 TR HeH! I, U, Ui, SR, IR 3 foran
73 firer < foru e werel witen 3 & 9 o S 37 7 & S, =F, FH
T g T et a1 TeReRt oft SR ST SMET UE | S Srgati ok Tner Rt
ot arvreff <t wdter-giet W waw e fozn S | when-het 3 3ty TRt
aneff % urm Afe Ferset B A1 WE € g a5g few Seo S TR
T 7, Rl St R 6 et v iR Seote Amn e 3i afen §
IR AT e &) Sl qen wiosy § off S Al whens
IR 8 W ot ufeser o fean s |

e -heg T Iiteds a1 wler-gia § dic & itad & ey o foret
ot arvzreff St yrei W ferem Tl foran s |

wRIgh g TN A1 Iurefe waeh § aneff o whe TR gu
wrel i et el § fren smom | sneff 3t sHS wid &
Hea 3R vgae # frell off wepr ot fergmfa qr@ S 9w snemeff
=1 wieqT § yew i At FE & St 3R 9 s S
T U B |

sreeff gro forefl w9 % I % w9 ° fey u uiw faeedi 4 @ wh
foreheq Y ISR T ST SATHETE 2 | Ig STUeh! SR gRI Sueied]
FIY MU Sheled 1A T A FieA—04 | HET 2| Tedl b 93 & forw
Of et 1 JERT & R R

et & gom 3 3ifaw g fire o Som foelt oft snweff o6t gomem
(STaere /ateren) § ST < AT T2t & Set | feret oft srwereff =
T FET B ¥ F W1y Bred T AT T8 2 |

feret oft arwreff =61 371,09, 3. I U= @iefl Bigd i 31T T4 2|

afe IS 37073, IT T Gredl T8 78 a1 wdaiersh 38 W g’
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TEST CODE : CE7G - 25

Candidate’s Roll Number / 31%ff 1 T/t TR

g9 ;1 91 45 e

Time Allowed : 1 Hour 45 Minutes

Total Questions : 100
% TR ¢ 100

T Yiereht S

Question Booklet Number

Maximum Marks : 100
JfereRdd 37 : 100

1. This Question Booklet contains 100 questions with weightage of

THIS QUESTION PAPER

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING

T UY-U i g1 i § U hudl FHHTTRad a9t i Ug
1. 39 oA qfErR § 100 T § | e Yo o fore 1 376 2rm

1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5 option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

2. TH-TA H FA HH & T5 A A9 & T qfeaw § FA 24 TS

2 3 30,19, 3. IW I3 h o Ufeai 8 | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot fide % 3t giifted o e
ST TP GfEThT 3T 3T TH.3R. IW 7 & avft T3 37=8t a@
B gu ¥ 3N e gftent i fepet oft o & aafa T wEh R 1

. JN.TH.IR. IW T hl A wfeat 2, gt i, i ufq g swreff

i | 3 TT-3THT T HL | 3. TH.3T. IW Tk <l =1 gl &
Tl <l ST 37T <hietl 7 bl | Sl oliedt T g1 ot 31U, 311,
IR T 1 TR 1 orer R fae widees @i Oiw & | wies
g sreeff wf Ster W 3% ¢ & SRt | sreeff st Wy we
qfeen! =i o W1 Hehdl & |

. S gHRE S TR Te-gfEen S ST 37U, IW T

ShH AT Ush—5HM g1 =g | fopeft ofi wepr <ht fermmfer ame ot w
Irreff ol e & e YfEehT 3T 37, TH. 3T, ST I Seeral ot
fEu | wdie IR & % Ui fime v e el W faem
fepem ST |

. TE 3T foetoT A 37T, 3T. I T W 2 |

37.TH.3TR. I T & Feend i A TE B |

. 38 IO Rt 3R 3T1.TH. 3T, I T % HU ITIT et Fra foren =

el | TRA-GfEeT 3R 370N, ST e & fohell o 758 &1 7
T wE AT HIS |

. atvreff =t fou o ute fospedi § © U fopen e AfEm B | Afe

Frweff @l ST T T B, @ 38 uiEdl fasweu (fasew ©) wen
B0 | Ot fershed Wi o fore uie fire stfafie few smdn | wi=at
fereped W 9T 1S 37k TEI ey SN ifs gHeh Ig Teba fiyetar @
Top rvrell 3 39 WA 1 WA T8I R R

CORRECT METHOD/T&! afisht

WRONG METHODS/ TTeid atieh

®O®OD®

®®O00E ARHOOE® @O®C0E POCO®

8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.
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Which of the following is the smallest
negative integer ?
(A) O

(C) -3

(E) Not attempted

(B) -1
(D) -2

A person incurs a loss of 10% by selling

a watch for Rs. 450. At what price should

the watch be sold to earn 10% profit ?

(A) Rs. 550

(B) Rs. 600

(C) Rs. 750

(D) Rs. 500
)

(E) Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to

Gwalior Gharana ?
(A) Haddu Khan
(B) Tansen

(C) Bade Ghulam Ali Khan
(D) Amir Khusro

(E) Not attempted

The largest concentration of green house

gases in the atmosphere is
(A) Carbon dioxide
(B) Chlorofluorocarbons

D

)
)
(C) Nitrous oxide
(D) Methane
)

(E) Not attempted

CE7G - 25

fFafafad ¥ 9 SH-91 T8 BT RS

qurieh & 7

(A) O (B) -1

(C) -3 (D) -2

(E) 3ranfEa

Ueh SAfed o1 TUeh TIS! 450 9 T s= T

10% 1 B Bt B | 10% o1 HHH &
foru u<t = form himd o s S =Tl 2
(A) ®. 550

(B) %. 600
C) %. 750
D) %. 500
(E) 3m=nfEa

(
(

frafafiga 5 9 F arfe=r ==t 9
BRI o Tk Tfg @I T 9 ?



What is the value of 10 - (2x 3) + 8 +2 ?

ot attempted

How are computers used in
Communication ?

(A) Via e-mail, video conferencing and
chatting

For advertising and home shopping
For managing budgets and payrolls
Through CAD applications

Not attempted

B
C
D

(
(
(
(E

~— ~— ~— ~—

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 1982

(C) 1987

(E) Not attempted

(B) 2002
(D) None of the above

What is the value of sin 90° x cos 0° ?
1

A B) V2

A o ® 2/

(€)1 (D) 0

(E) Not attempted

IfA:B=3:2andB:C=3:5, then
A:B:Cis

CE7G - 25

10-(2x3)+8+2H AH FT & ?
(A) 5

(B) 6

C€) 7

(D) 8

(E) ITvmfra

TER T et hl IWANT S o S & 2

(A) 3-Te1, difear wimifem R Afanr &
e |

(B) fasmo 31k gm wiife & forg

(C) ST 3 U & JaeH & oI

(D) CAD TSI @ HIEIH &

(E) 3romfda

TS BT 3R 7 foehrg de ([TeTE) i
1o fopm o § oY TS off 7

(A) 1982 (B) 2002

(C) 1987 (D) ST T | hIS Tl
(E) 3romfya

sin 90° x cos 0° T | T & ?

1
DA ®) 2/
(©) 1 (D) 0
(E) 3m=nfEa

Ifg A:B=3:23MB:C=3:58,d

A:B:C‘&ﬁ’ﬂ

(A) 9:6:10

(B) 6:9:10

(C) 10:9:6

(D) 3w & & IS T
)

(E) ITvmfra



10.

11.

12.

13.

The 91%! Amendment Act of Indian
Constitution was brought in

(A) 2000 (B) 1989

(C) 2003 (D) 2001

(E) Not attempted

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Yamunanagar (B) Panchkula
(C) Kurukshetra (D) Ambala

(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a
logical and meaningful order.

1. Scrutiny

2. Application

3. Interview

4. Job offer
5

. Joining
(A) 3,1,5,4,2 (B) 2,4,1,5,3
(C) 2,1,8,4,5 (D) 1,3,2,4,5

(E) Not attempted

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema’ title by British
Government in 1904 ?

(A) Jaimini Sarshar

(B) Altaf Hussain Hali

(C) Khwaja Ahmad Abbas
(D) Naubhar Sabir

)
)
)
(E) Not attempted

10.

11.

12.

13.

CE7G-25
WA Gfaa™ &1 91t gened stfafrm
AT T
(A) 2000 (B) 1989
(C) 2003 (D) 2001
(E) 3=nfEa
frferfga § 9 gi@mn 1 -1 e

A TSI o G 379 T ErE o B 7

(A) IR (B) Tk

(C) pear (D) 3sITett

(E) 3ToRmfEa

&l forehed o1 =9 L I dTieheh AR
refes oA § frforRad seprsan i sewn
=1 30T &L 2l |

1. gate

2. e

3. HIEATHR

4. TRl TET

5. IMHE &M

(A) 3,1,5,4,2 (B) 2,4,1,5,3

(C) 2,1,3,45 (D) 1,83,2,4,5

(E) TRt

Fr=faRea o @ *F g &1 s gfig

3g IR o1, g fafes @w@r gro 1904 ®
T -IA-3AHT ! U < TS ot ?

(A) S TR

(B) ITeT® gEA BTt

(C) TSI TS 3T&aTH

(D) T TR

(E) 3=nfEa



B

14.

15.

16.

17.

Which of the following is an example of
an Input Device ?
(A) Monitor

(C) Keyboard

(E) Not attempted

(B) Speaker
(D) Printer

In the following question, a statement
followed by 2 conclusions is given.
Choose right conclusion which logically
follows the given statement.

Statement : Morning walks are good for
health.

Conclusions : |. All healthy people go
for morning walk.

[I. Evening walks are
harmful.
Both | and Il follow
B) Only conclusion Il follows

(A)
(B)
(C) Neither I nor Il follows
(D)
(E)

D) Only conclusion | follows
E) Not attempted

A person travels 120 km in 4 hours. If he
increases his speed by 10 km/hr, how long
will it take him to travel same distance ?
(A) 3 hours (B) 2.5 hours

(C) 3.5 hours (D) 2 hours

(E) Not attempted

The concentric circles on the platter of
hard disk are known as

(A) tracks

(B) sectors

(C) circles
(D)
(E)

none of the above

Not attempted

14.

15.

16.

17.

CE7G - 25

fraferfea & @ %9 3Aqe farga =
3G 7 ?
(A) T
(OEIELS
(E) 3=nfEa

Fier feu ¢ 99T T oA 3R 2 fswy few Mo
2 | a8 udt s g4, S fou T et
dTfeher &9 W FLEOT HTaT & |
HAT : YT ! W @A 6 U 31
BN 2 |
et ;1. oft Tey @ geg T MW
IR
I1. 3 61 & FTHHES B |
(A) | 3T 11 gHT STTET L B
(B) et sy 1| JTTHTT AT B
(C) AN 1T & 1l ITTHT LT 8
)
)

(B) TRt
(D) et

(D) hae fIsshy | STTE LT §
(E) ITvmfra

e Safed 4 €S § 120 Topwt b1 amm swear
? | gfe o® 3o il 10 Tt /wier wan
a1 B, o M gl ¥ w0 o 3/ fepa
ug AT ?

(A) 3 (B) 2.5

(C) 3582 (D) 2%

(E) 3ranfEa

BT To&h o =it W Tehigd Iai &l
& ¥ H M 1T 2 |

(A) %

(B) T

(C) Heben

(D) 3w & & IS T

(E) 3m=nfEa



18.

19.

20.

21.

22.

Which of the following is true for

x=3%-27 2
(A) x=0 (B) x=-3
(C) Undefined (D) x=3

(E) Not attempted

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) North-eastern States of India

(B
(C
(D
(E

) Coastal Kerala

) North-western States of India
) None of the above

) Not attempted

In the following question, select the word
from the given alternatives which can’'t be
formed using the letters of the given word.
CONSTRUCTION

(A) NOTION (B) COINS
(C) CAUTION (D) SUCTION
(E) Not attempted

Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(A) Karnal
(C) Hisar
(E) Not attempted

(B) Narnaul
(

D) Gurugram

What does ROM stand for ?
(A) Ready Open Memory

(B
(C
(D
(E

) Read Only Memory

) Random Operations Memory
) Random Output Memory

)

Not attempted

18.

19.

20.

21.

22,
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X = Y-27 % foru faefafiaa § 9 -1
AR ?

(A) x=0 (B) x=-3

(C) JraRHATIYd (D) x=3

(E) 3rafEa

AW U & BV, T8 SR W gm et

71 A1 &, el J=ied & 7

(A) ¥R % IT-TeT T

(B) T A

(C) WRd & Ia-ufzadl T=g

(D) Sudad # | I3 Tl

(E) 3mwanfEa

frfafad w7 % fopedt @ o8 weg
S feu U vreg & A BT ITANT Hih
T ST ST FehaT § |
CONSTRUCTION

(A) NOTION B) COINS

(
(C) CAUTION (D) SUCTION
(E) 3=nfEa

g <t fope gams ugt =1 faereet
gaTs ugl ot e ST @

(A) HHTA (B) TRAYA

(C) feam (D) Tea™

(E) 3t

SAR.3T.TH. 1 w1 37 B 7
(A ) & A wEh
ﬂ:c;aﬂ?ﬁﬁiﬂﬁ



23.

24.

25.

26.

27.

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Gujarat

(C) Rajasthan

(E) Not attempted

(B) Madhya Pradesh
(D) Maharashtra

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Kings in a battle

(B) Singers and musicians travelling on a
bullock cart

(C) Women performing folk dance

(D) Farmers ploughing fields

(E) Not attempted

Which of the following diagram indicates
the best relationship between German,
French, Languages ?

(D)

(E) Not attempted

Which traditional ornament worn by
married women in Haryana is a silver ring
worn on the toes ?
(A) Pali

(C) Jhanjhar

(E) Not attempted

(B) Bichhiya
(D) Payal

The Article 23 and 24 of Indian
Constitution are related to

(A) Right to Freedom

(B) Right against Exploitation

(C) Right to Freedom of Religion
(D) Right to Equality

(E) Not attempted

~ ~— ~— ~—

23.

24.

25.

26.

27.
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e TSar T, R 3 T
e 2, fore v o= o feorg & 7
(A) Td B) HeEH WeXl
(C) TSI (D) HElTSE
(E) 3TSRTRa
ghEmT & 3farern el O gu 0 uig 7 U
ufd Fraferfad & & o qufd 2
(A) T g | T

(B) SISl W AT Hid Teh R Tifias
C) AT F g wleen

(D) Wd Aradl Fh
(E) 3ranfEa
fr=fofea 8 @ sF-a1 3@ s, %
3R 913t & &9 Haay §eY Ui 8 7

® &

O
()6
GERIIEG]

giemn § faanfea afgenst gra 3 i
3nferat & wsh =idl it IS SET BT ST
AT ST R G 7
(A) dTett (B) fafean
(C) TR (D) I
(E) 3=fEa

AT Ffau™ o Tg=se 23 3R 24 fha
Heiferd 8 7



e

28.

29.

30.

Excavations at which site in Fatehabad
district of Haryana have revealed
pre-Harappan culture ?

(A) Banawali
(B) Mittathal
(C) Kunal
(D

(E

None of the above

~ ~— ~— ~—

Not attempted

Which type of language was used in
Second Generation Computers ?

(A) High level programming languages
(B) Assembly language

C
D
(E

Object oriented programming

Machine language

)
)
)
) Not attempted

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains

the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?

(A) Both statements 1 and 2 are correct
(B) Only statement 2 is correct

(C)
(D)
(E)

Both statements 1 and 2 are incorrect
Only statement 1 is correct
Not attempted

28.

29.

30.
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RO o wagETe oo o forl e w
GeTs ¥ Yd-gSwl HEhid I IqT =1 & 7
(A) SHTIAT

(B) T

(C) P

(D) S & & g

(E) SToRId

ol diEt o el U fohg wehr < wr
T AN T T o7 7

Tfies AR o 91 H AEfafgd st w
form ifSrT

HUA 1 : WSH TE T (AR.UTA. )
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&1 ST ®, WSH THEE A (LT )
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HUA 2 : WeH THEH AAN (3AR.T.UA.) &l
AR T Y& 9O & &9 § genld foma
ST 2 3R 97 fadios A9 a1 wie
feamga <1 gt & o Bt B |

oY | @ HH-T1/H HYA wE B/F 7
(A) S 1 AR 2 ST Tl B

(B) ool HYT 2 TE B

(C) A 1 3R 2 T T&! &1 &

(D) el HYT 1 FE &

(E) 3Tomféa




B

31.

32.

33.

Which city in Haryana had the first metro
rail ?

(A) Gurugram
(C) Kaithal
(E) Not attempted

(B) Hisar
(D) Mahendragarh

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(B) 2000
(D) 1800

(A) 8000
(C) 4000
(E) Not attempted

Which figure will come in the place of

question mark (?) ?

A )

b2

(A)

(B)

(D)

| b & [

(E) Not attempted

31.

32.

33.

CE7G -25
g & fora set # veelt 71 W I®
&I TS oft 7
(A) TeU™ (B) fgam
(C) o (D) WegTg
(E) r9=mfaa

Teh AL ST 3™ 40 m, 25 m 3T 10 m
213 2m x 1.25m x 1 m 3TEH T
TR a6l T W ST 7, ol W AW 91t
ol <l T@ 7

(A) 8000 (B) 2000
(C) 4000 (D) 1800
(E) 3m=nfEa

oA T2 (?) % TIH W HH-HT ST
3wt 7

A

Sl:l2

(A)

(B)

%\aﬂ@g/xox



34.

35.

36.

37.

What is the role of the Haryana

Renewable Energy Development Agency

(HAREDA) ?

(A) Providing electricity to rural areas

(B) Enforcing the Energy Conservation
Act, 2001

(C) Promoting solar panel imports

(D) Managing coal-based power plants

(E) Not attempted

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%
and 10%. What is the final selling price of

the item ?
(A) Rs. 1,510 (B) Rs. 1,500
(C) Rs. 1,520 (D) Rs. 1,530

(E) Not attempted

Complete the following analogy.

8:24::7:32
(A) 10 (B) 8
(C) 6 (D) 5

(E) Not attempted

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in
(A
(B

) Faridabad

)
(C) Chandigarh
(D)

)

Panchkula
D) Gurugram

(E) Not attempted

-10-

34.

35.

36.

37.
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BTN Fetehtuli ot forehre woreht
(T, .33 €11, ) T o firehT 2 7
(A) TTefoT & | Rl SueTed U

(B) a1t &7 3w, 2001 T YA
(C) |R et 37Tl bl FGHT

(D) SHIFAT N Foll HIAT T I
(E) 3=nfEa

Teh GohMER Tsh %] W %. 2,000 3fehd
T 8 AT 15% I 10% i ShiHeh TG T
® | a&g 1 3ifaw fasea qou = 8 7

(A) ®. 1,510 (B) ®. 1,500
(C) %. 1,520 (D) %. 1,530
(E) SToRId

frefafga sredar gof i |
8:24::7:32

(A) 10 (B) 8

C) 6 (D) 5

(E) STmfdra

FIETO U= 3N Ta 3TaETEHT
TorehT PRANTH (T TE.37E. 3T SLH.) &
T qfRas |

(A) HiereTe

(B) TegeT

(C) =ErTe

(D) TeIm™

(E) TSR



B

38.

39.

40.

41.

Find the correct mirror image.
: ‘é ; %’
; ék : Y?

(E) Not attempted

Which number system uses only digits
Oand1?

(A) Decimal

(C) Binary

(E) Not attempted

(B) Hexadecimal
(D) Octal

If Rs. 8,000 invested at a compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 17.5% (B) 10%

(C) 5% (D) 25%

(E) Not attempted

The decimal form of 12—1 is

(A) 0.1
(C) Not defined
(E) Not attempted

(oo}

(B) 0.18
(D) 0.018
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38.

39.

40.

41.

CE7G-25
et edu gfdfears 31 Hifsg |
FOSE
Aa ~7
(E) 3=fEa
- GEAT YUTAT shaed 0 3T 1 37 <Al
3TN LA B ?

(A) SIS (B) zETSRIHe
(C) =g (D) TR
(E) e

afg ®. 8,000 %! Tshalg = ¥ FEW A
T 399 o1 IS o &9 § %. 1,261 9T &I
2, 1 a1ftes =S e R B 7

(A) 17.5% (B) 10%
(C) 5% (D) 25%
(E) e

% T TIAAT €9 B

(A) 0.18 (B) 0.18
(C) ITuftaiya (D) 0.018
(E) 3ranfEa



42,

43.

44,

45.

46.

Central Institute for Research on
is situated at Hisar district of
Haryana.
(A) Deer
(C) Crocodile
(E) Not attempted

(B) Buffaloes
(D) Tiger

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.
14, 14, 28, 84, 336, x

(A) 2016 (B) 1344

(C) 1680 (D) 1682

(E) Not attempted

Which major river forms Haryana’s
eastern boundary ?
(A) Ghaggar

(C) Saraswati

(E) Not attempted

(B) Yamuna
(D) Sutlej

The author of the important musicological

text ‘Sangita Ratnakara’ is

(A) Pandit Haridas

(B) Sarangadeva

(C) Tansen

(D)
)

(E

None of the above
Not attempted

Which canal system of Haryana
originates near Nangal and irrigates Sirsa
and Hisar ?

(A) Bhakra Canal

(B) Gurugram Canal

(C) Jawaharlal Canal

(D) Eastern Yamuna Canal

(E) Not attempted

~— ~— ~— ~—
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42.

43.

44.

45.

46.

CE7G -25
gEmrsfErd 000 wWHdw
IHYH T R 2 |
(A) et (B) &

(C) TTH=D (D) =T

(E) ITvfra

T e <& TS @, o U ug i # |
feu Tu fospedi ® @ 97 @@l fosheq T S
SEAT I U T |

14, 14, 28, 84, 336, x

(A) 2016 (B) 1344

(C) 1680 (D) 1682

(E) STy

-4l T TE R < gel €
A R ?

(A) TR (B) FHT
(C) HTEdl (D) HadS
(E) 3ranfEa

HEeaul iftaemre T Tt TRt
IICEDR]

(A) ufea gfgra

(B) ®TCH

(C) A&

(D) 3T # § s T

(E) 3m=nfEa

FIToN ST H-TT T& JuTTelt et %

99 § ferardt 2 3 foran 3 fgam =t
et ot 2 2

(A) HTIEST 8L

(B) TR &

(C) STATEIETe &t

(D) eff FHAT TR

(E) 3romfda



B

47.

48.

49.

50.

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca _b _aabc_a _caa

(A) cbab (B) ccab

(C) bcbb (D) acab

(E) Not attempted

In which year Social Forestry Scheme
was started in Haryana ?

(A) 1996
(C) 1999

(B) 1980
(D) 1982
(E) Not attempted

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 44™ Amendment

(B) 42" Amendment

(©) 87" Amendment
(D)
(E)

None of the above
Not attempted

A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?

(A) Rs. 13,000

(B) Rs. 11,000
(C) Rs. 12,000
(D) Rs. 10,000

)

(E) Not attempted
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47.

48.

49.

50.

CE7G - 25

frefefiga 1R J@en § $o 3R q< 2
T 3Tk A9 forehed o &9 # 39 59 | feu
TR | HEl forehed T |

bca_b _aabc _a_caa

(A) cbab (B) ccab

(C) bcbb (D) acab

(E) 3TSRTRa

BTN | GrATheTes afeh! TS foh o
TE H TS AT 7
(A) 1996

(C) 1999

(E) r9=mfaa
TR dfage § forg wene 3 wifers
shaeal s U feRaT ?

(A) 44 3T G

(B) 42 4T GNY
C) 87 af TxNed
)

)

(B) 1980
(D) 1982

(

(D) 3T § F HiE T

(E) 3=nfEa

T o H 25% i gfg i I & 3R
¢ H T I T 20% H1e T Srar 7 |
gfe 31fam aa= . 12,000 &, 1 SrEdferh
AT T AT 7

(A) ®. 13,000
(B) &. 11,000
(C) %. 12,000
(D) %. 10,000
(E) 3=nfEa



e

51.

52.

53.

54.

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Karnal (B) Hisar

(C) Panipat (D) Rohtak

(E) Not attempted

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

(A)

]

(©) (D)

(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Delhi

(C) Mathura

(E) Not attempted

(B) Kannauj
(D) Pataliputra

The first jute mill was set up near Kolkata
at Rishra in

(A) 1856

(C) 1857

(E) Not attempted

(B) 1854
(D) 1855
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51.

52.

53.

54.

CE7G -25
TR 1 ey IS S SHYH Y,
e S e 3fReesre (T, €13 3TE. )
B o frg e A | 8 7
(A) HETA (B) fzam
(C) urua (D) Ugds
(E) ITymiyd
o | & TS 3Rl ok T I forehedi |
& T B -E i T HUM 7
?

(A) (B) YI
(C) (D)
(E) 3m=nfEa
B 3 IO T AHE § SN
(A) feeeht (B) =helsl
(C) wYu (D) drefergA
(E) 3ranfEa
SIcTeRIdT o I T o ugett e e

T worrfia i T ot |
(A) 1856 (B) 1854
(C) 1857 (D) 1855
(E) 3anfEa



55.

56.

57.

58.

59.

Which dance form of Haryana is named
after an ornament worn on the forehead
by young married women ?

(A) Loor (B) Jhumar

(C) Gugga dance (D) Ghoomar

(E) Not attempted

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

Not attempted

Phalgu tourist place is located in which
district of Haryana ?

(A) Jind
(C) Jhajjar

(B) Mahendragarh
(D) Kaithal
(E) Not attempted

What is the historical name of Markanda
river in Haryana ?
(A) Saraswati

(C) Aruna

(E) Not attempted

(B) Sharana
(D) Varuna

Who was the founder of the Satavahana
dynasty ?

(A) Vashishtaputra Pulamayi

(B) Gautamiputra Satakarni

(C) Hala

(D) Simuka

(E) Not attempted
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55.

56.

57.

58.

59.

CE7G - 25

BT & HH-H T T ATHHT AT

foranfea Afgest gra M9 W ugd W 9
Ted W fpm e g 7
(A) X (B) HT
C) T I (D) ¥
(E) 3ranfEa
HI T JurTell H IFTHR WS ITHRTE
o STTURIST WIT %1 HYEIhd fohal ST
(A) Df
(B) BSh
(C) Am
(D) Af
(E) 3=nfEa
giemn & fora et § %ot vl wd
Rz ?
(A) Sfig (B) HexTG
(C) TSR (D) U
(E) 3T9=mfyd
g § areher At 1 Tt |
ERl
(A) Tl (B) IROM
(C) 3reum (D) %O
(E) 3=nfEa
GTAaTa TSN Sl LTI i AT ?
(A) IfTSSYA JerHTit
(B) TaHg FTaehuit
(C)W
(D) fag=
(E) ITvmfra



60.

61.

62.

63.

The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Yamunanagar (B) Ambala

(C) Panchkula (D) Karnal

(E) Not attempted

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Cousin

(B

) Uncle

C) Data is inadequate
)
)

(
(D) Brother
(E) Not attempted

Who is the head of a Gram Panchayat in
Haryana ?

(A) Panchayat Secretary

(B
C
D
(E

Sarpanch

)
(C) Block Development Officer
(D) District Collector
) Not attempted

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 15,000
(C) Rs. 40,000

(B) Rs. 50,000
(D) Rs. 30,000
(E) Not attempted
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60.

61.

62.

63.

CE7G - 25

BT 6 TeE S S, wUE =G,
fopm ol of fRua 2 7
(A) IHITR

(C) Terege
(E) r9=mfaa

(B) &
(D) HETA

Teh TR i 3T S R T T el &,
“‘Ig T TIET o Fohelld o N ST B | aER
¥ fem @ =afeRt 1 o & 1 GEy 7
(A) == W

ERATOT T U Y=RId <l GREAT i BT & 7
(A) T=TId afEg

(B) T

(C) @e fasrm At

(D) foremeftr

(E) e

A ARBUS FIEI H3:5%
3uTd | fraw € | 99 % 37 H 3=
¥. 40,000 1 ATH HHAMET | 19 |

A fepa fewm @ 7

(A) ®. 15,000 (B) %. 50,000
(C) ®. 40,000 (D) %. 30,000
(E) 3ToRmféa



B

64. Consider the following statements related

65.

66.

67.

to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Only statement 2 is correct

(B) Both statements 1 and 2 are correct
(C
(D
(E

)
)
) Only statement 1 is correct

) Not attempted

Haryana ranked among the bottom five
States in which report released by

NITI Aayog ?

(A) Sustainable Development Goals
(SDG) Report 2025

Fiscal Health Index 2025

Ease of Doing Business Index 2025
State Investment Index 2025

Not attempted

(B)
(©)
(D)
(E)

Complete the following analogy.

ACE : FHJ : : OQS :
(A) TVX (B) RTU
(C) uwy (D) PUT

(E) Not attempted

This protected area contains one of the
last surviving remnants of Delhi Ridge hill
range

(A) Nahar Wildlife Sanctuary

(B) Asola-Bhatti Wildlife Sanctuary

(C) Abubshahar Wildlife Sanctuary

(D) Bhindawas Wildlife Sanctuary

(E) Not attempted

Both statements 1 and 2 are incorrect
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64.

65.

66.

67.

CE7G - 25

TRE % SR H HEYd fefaiRaa suHt
R fomm $Hifsw :

FoA 1 : 98 qd | ufeadt are 3 ufvaw #
ooff ame & o 2

oM 2 : goff Tre 6t o § ufvadt e
Fferes amg W 8 I Al TR ? |
Sy o A SBT3 HU T R/ 7
(A) ot HH 2 Tl B

(B) %Y 1 3R 2 I T&l B

(C) A 1 3R 2 A1 T&! &1 &

(D) haed HH 1 TE! &

(E) 3=nfEa

Hifq 3w gro S - fod o

giemon i ifew afw usa § we fen

TR 7

(A) Tad o wea (vE.ghsh.) fard
2025

(B) TSThIYT TETee gaehlsh 2025

(C) 39 3T g3 foem| S99 2025

(D) TST T gFehish 2025

(E) 3m=nfEa

frefafga swedar gof i |

ACE :FHJ :: OQS:

(A) TVX (B) RTU
(C) UWY (D) PUT
(E) 3anfEa

30 T &= | fooeft wddie ooft &
Jfe T e 4 § U B
(A) AR TSI IR

B) 3THIAT-WEl T=ISiie 310y




68.

69.

70.

71.

Who was the first ruler to establish Hisar
as a major city in Haryana ?
(A) Sher Shah Suri
(B) Firoz Shah Tughlaq
(C) Akbar
(D) Babur
)

(E) Not attempted

Which of the following is not correctly
matched ?

(A) 1YB=1024 GB

(B) 1 TB=1024 GB

(C) 1EB=1024 PB

(D) 1 GB =1024 MB

(E) Not attempted

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 2016|2017(2018|2019 (2020

Population| 1.5 | 1.8 | 21 | 24 | 2.7

(A) 1.5 millions
(C) 1.8 millions
(E) Not attempted

(B) 1.2 millions
(D) 1 million

If S denotes x, P denotes —, R denotes +
and Q denotes +, then
14641Q121P100S2R100 = ?

(A) 61 (B) 31

(C) 21 (D) 48

(E) Not attempted
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68.

69.

70.

71.

CE7G -25
TN T feaR 1 Uk g e €9 4
MY A ST IgAT IMEeh hid AT 7
(A) I=E T
(B) TUrsT w18 qrTeTeh
(C) 3IhsT
(D) ST
(E) 3=nfEa
Fraforiaa o & H-ar @ gofera 76 & 7

(A) 1YB=1024 GB
(B) 1 TB = 1024 GB
(C) 1EB=1024 PB
(D)

)

D) 1 GB = 1024 MB
(E) 3=nfEa

T arferemt 5 99t ° T wEt h SHEE
(fyferm ®) ewidl 8 | 2016 & 2020 d

e | frat afg gE @ v

EL] 201612017 (2018|2019 | 2020
g | 15| 1.8 | 21 | 24 | 27

(A) 1.5 fufera (B) 1.2 fuferm
(C) 1.8 fuferm (D) 1 fuferm
(E) 3=nfEa

Ife S, x I AT 7, P, — I g 2,
R, + bl CIMAT & AT Q, + bl <IMaT &, ol

14641Q121P100S2R100 = ?

(A) 61 (B) 31
(C) 21 (D) 48
(E) ITvmfra



B

72.

73.

74.

75.

A can complete a job in 12 days and B can
complete the same job in 18 days. If they
work together, how many days will they
take to complete the job ?

(A) 7.5 days

(B
(C
(D
(E

) 8 days

) 7.2 days

) 6 days

) Not attempted

Which of the following is not true for a

parallelogram ?

(A) Opposite angles are bisected by the
diagonals.

(B) Opposite angles are equal.

(C)

(D) Opposite sides are equal.

(E)

Diagonals bisect each other.

Not attempted

The value of 4\/%/272 is

(A) 216 (B) 27°

(C) 26 (D) 2—1/6

(E) Not attempted

Where is the Indo-Israel Horticulture
Project located in Haryana ?

(A
B

) Panipat

)
C) Sirsa

)

)

Uncha Majra
(
(D
(E

Gharaunda

Not attempted
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AT Hi i 12 i | g0 K Tehat © a0
B 3 % &l 18 Tl # 90 T ka1 7 |
I o QI Th |1 M Y, A HE LU HH
H 3% fepa e eril ?

(A 751%?

TR =g % fore feferfid o & -

q TR 8 7

(A) faeputt g0 Tog@ hior a9 fawrfera
B2 |

(B) HHE@ IV SIS &Md ¢ |

C) Toreput ush gt =1 W forefora ohed 2 |

(C)
(D) TH@ ¢ SR B & |
)



76.

77.

78.

79.

80.

CE7G - 25

English Language

Choose the correctly spelt word.
(A) Personel (B) Perssonal
(C) Parsonnel (D) Personnel
(E) Not attempted

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Sleepy

(C) Ignorant

(E) Not attempted

(B) Fat
(D) Lazy

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks have been handled
efficiently by her.

(B) All tasks were handled efficiently by
her.

(C) All tasks are being handled efficiently
by her.

(D) All tasks are handled efficiently by
her.

(E) Not attempted

Choose the correct antonym of the
following word.

Ascend
(A) expand (B) descend
(C) arrive (D) increase

(E) Not attempted

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money

(A) Bring the money to the car park.
(B) Car park to the bring the money.
(C) The money bring to the car park.
(D) Bring to the car park the money.
(E) Not attempted
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81.

82.

83.

84.

85.

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you
against this beforehand ?”
(A) His friend asked him if he did not
warned him against that beforehand.
(B) His friend asked him if he had not
warned him against that beforehand.
(C) His friend said to him if | had not
warned you against that beforehand.
(D) His friend asked him did he not
warned him against that beforehand.
(E) Not attempted

Choose the correct meaning of the

following idiom or expression.

Piece of cake.

(A) Would never like to do something

(B) Join a popular trend or activity

(C) Feeling slightly ill

(D) A job, task or other activity that is
easy or simple

(E) Not attempted

Choose the correct synonym of the
following word.

Pause
(A) Staff (B) Safe
(C) Stop (D) Start

(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) 1 am angry with you.

(B) I'am angry in you.

(C) I'am angry to you.

(D) I am angry for you.

(E) Not attempted

Give one word substitute for the following.
The study of plants is called

(A) Sericulture (B) Astrology

(C) Botany (D) Bacteriology

(E) Not attempted



B

86.

87.

88.

89.

90.

&= v

I + 37 = e fope Gfer o Serer g 7
(A) 9 (B) U

(C) A (D) gl

(E) 3t

‘e vIsg T TEl 1Y 2 |
(A) Sea (B) 3%

(C) 3red (D) =

(E) 3=t

JAYUYHT, JGRIAT, ITEA M Teg
ST o 3T 2 |

(B) 34,

(D) E&pd
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92.

93.

94.
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T el TR I wler 7’
T T | frefafea weg gm o 9 &
wIeg I <l AR Ty |

(A) eR-¢R

(B) HII-TTY

(C) STTR~SHTE

(D) FAT-FI

(E) 3m=nfEa
“IreTesh B ° ey fogaa 2 17 98
are fopm fopam 1 3eTETr 8 7

(A) JSRIfcTeh (B) SuTIefeh
(C) et (D) M=
(E) 3=fEa

JydTeh TRl ohl Bigeht At JHR &+

eIt % I A ferma =v1 SR
feram STt B

(A) 31g (B) 31cd

(C) 39 (D) ot

(E) STmfda

e U qoeH weg 7 | feferiid weal
T 9 3Hh! TE qeHd T6g IR (oIRaT |
(A) Fst (B) &t

(C) T (D) e

(E) 3mwanfEa



e

95.

96.

97.

ffTRiad weei § § ‘G T HEl W

T |

(A) T (B) fewm
(C) T (D) &ww
(E) 3rvmfya

el 1 R E 7

(A) o g1 & & & S

(B) T WY Bl & foreT 31 ae |

(C) 3T=et g H ST o7 & |

(D) TcI&T <l JHTUT ITEIThal &l |

(E) 3TSRTRa

S fersror fepet safer, wmoft reren awg
T U e foRidr 1 1Y U, 3=
_ fomior hed B |

(A) TE&ITETE®

(B) TUTET=Ieh

98.

99.

100.

CE7G - 25

I S ST |’ Th e 8, $Hh Fel
a1 = ferfiam |

(A) FB 3T FA |

(B) T $<hR HTT |

(C) 5ga forrr &1 < |

(D) T BIE < |

(E) STwmfEa

S & T B IW FITHE & 7
(A) goiw
(B) g™

Y e aTel AfFd I
FEd & |

(A) =T

(B) STEht

(C) ot

(D) T | SIS &

(E) 3TSRTRa
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9.

15.

16.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

20.

avreff ol oI U TeRT-us o B, o W g € | i wen vfA
B S T -G B, W I W e g =T & B foran gan
R 3Hh NG BIA o 3T Th U0, S b grsfem emgdg,
TAeal UNET-TH, JMUR HlS, TdE 37 T & s Th  Tefl-shg T
AT FAER B | 3T sl i uden & i FEtd w6 & Sl |

Sl 1 Femg § S 2 T 3 glftea S 6 3N i L am.
I Ok W 3neeff st AW, T <hT T, HIAT <1 T, TR g 6
e, e s faf, T, Tet wg%wawasﬁw%mq
Feereort bt fora & Fopell o SR 1 e T B W aref]
@Wﬁgﬁ%%@m@%lg&ﬂ%ﬁmmm
%w@ﬁﬁnﬁwmﬁmﬁma& Iufeafa-w=reh
W, 3M.TH.3N. IR T W 3R TEmies aeia § o 3k st
TR T EE o R |

. il Rl =raTert &t ST 2 foh o 3N UL 3R, SR wereR | foRe oft

TR <1 9T 7 SATE 37 1 €1 38 HIE | o7 UH. TR, ST U= H $9 oft
forEm 3R s o Uy 39 e o fore e, Arem, s, athe we
uenel /amgeR 3ife o T o fereht o1 TR | 3@ arfd uge mEE
e 21 37 g eTl o TEINT © TR U A1 37 UH. AR, ST U | e
U2 B W, TR o (9 2w an afd g o st it srvaferar sk
3T TH.3TR. I U=k 1 & e e e s

SRR 1 =t & W ® o6 o wATer, Histee B, TRt o TR <
Y, See, Soldriieh A1 TR HeH! I, U, Ui, SR, IR 3 foran
73 firer < foru e werel witen 3 & 9 o S 37 7 & S, =F, FH
T g T et a1 TeReRt oft SR ST SMET UE | S Srgati ok Tner Rt
ot arvreff <t wdter-giet W waw e fozn S | when-het 3 3ty TRt
aneff % urm Afe Ferset B A1 WE € g a5g few Seo S TR
T 7, Rl St R 6 et v iR Seote Amn e 3i afen §
IR AT e &) Sl qen wiosy § off S Al whens
IR 8 W ot ufeser o fean s |

e -heg T Iiteds a1 wler-gia § dic & itad & ey o foret
ot arvzreff St yrei W ferem Tl foran s |

wRIgh g TN A1 Iurefe waeh § aneff o whe TR gu
wrel i et el § fren smom | sneff 3t sHS wid &
Hea 3R vgae # frell off wepr ot fergmfa qr@ S 9w snemeff
=1 wieqT § yew i At FE & St 3R 9 s S
T U B |

sreeff gro forefl w9 % I % w9 ° fey u uiw faeedi 4 @ wh
foreheq Y ISR T ST SATHETE 2 | Ig STUeh! SR gRI Sueied]
FIY MU Sheled 1A T A FieA—04 | HET 2| Tedl b 93 & forw
Of et 1 JERT & R R

et & gom 3 3ifaw g fire o Som foelt oft snweff o6t gomem
(STaere /ateren) § ST < AT T2t & Set | feret oft srwereff =
T FET B ¥ F W1y Bred T AT T8 2 |

feret oft arwreff =61 371,09, 3. I U= @iefl Bigd i 31T T4 2|

afe IS 37073, IT T Gredl T8 78 a1 wdaiersh 38 W g’
A o YT IO BEAE B < 3R 38 W T form @

TR Ak hi ST Foterg T-1eh b+ HETEA § 1 ST | ST =1 TTetq
W T 31.TH. N, I oAk FA B Fehal § |

Ffe h1g 3reaeff Iuwder el o1 aTer el ShidT 2 A1 STIITEA T hial
2 1 3w FeugER U g SR S, 3R 8 stfafed
38 wfesy # oft S areft whienstt @ off sfea fran S gear 81 39
foreg TTOITYres SRIATE] 1 @ i €1 feharn ST Tehel 2 |

Tfe ferelt wom 3 f=t qen TOISh a1aTe § hiE ofR B A oTSH 1A
< B TG S WA |

A2 222222222222 22223222222222222223222222223223222222232232232222228;
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1. This Question Booklet contains 100 questions with weightage of

THIS QUESTION PAPER

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING

T UY-U i g1 i § U hudl FHHTTRad a9t i Ug
1. 39 oA qfErR § 100 T § | e Yo o fore 1 376 2rm
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1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5 option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

2. TH-TA H FA HH & T5 A A9 & T qfeaw § FA 24 TS

2 3 30,19, 3. IW I3 h o Ufeai 8 | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot fide % 3t giifted o e
ST TP GfEThT 3T 3T TH.3R. IW 7 & avft T3 37=8t a@
B gu ¥ 3N e gftent i fepet oft o & aafa T wEh R 1

. JN.TH.IR. IW T hl A wfeat 2, gt i, i ufq g swreff

i | 3 TT-3THT T HL | 3. TH.3T. IW Tk <l =1 gl &
Tl <l ST 37T <hietl 7 bl | Sl oliedt T g1 ot 31U, 311,
IR T 1 TR 1 orer R fae widees @i Oiw & | wies
g sreeff wf Ster W 3% ¢ & SRt | sreeff st Wy we
qfeen! =i o W1 Hehdl & |

. S gHRE S TR Te-gfEen S ST 37U, IW T

ShH AT Ush—5HM g1 =g | fopeft ofi wepr <ht fermmfer ame ot w
Irreff ol e & e YfEehT 3T 37, TH. 3T, ST I Seeral ot
fEu | wdie IR & % Ui fime v e el W faem
fepem ST |

. TE 3T foetoT A 37T, 3T. I T W 2 |

37.TH.3TR. I T & Feend i A TE B |

. 38 IO Rt 3R 3T1.TH. 3T, I T % HU ITIT et Fra foren =

el | TRA-GfEeT 3R 370N, ST e & fohell o 758 &1 7
T wE AT HIS |

. atvreff =t fou o ute fospedi § © U fopen e AfEm B | Afe

Frweff @l ST T T B, @ 38 uiEdl fasweu (fasew ©) wen
B0 | Ot fershed Wi o fore uie fire stfafie few smdn | wi=at
fereped W 9T 1S 37k TEI ey SN ifs gHeh Ig Teba fiyetar @
Top rvrell 3 39 WA 1 WA T8I R R

CORRECT METHOD/T&! afisht

WRONG METHODS/ TTeid atieh

®O®OD®

®®O00E ARHOOE® @O®C0E POCO®

8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.

8. Terd fashed Ut W whig Tifea wifeh &t gnft | =fe srveff +iE gw=

A TEl B & 7, d1 W 3A.TH.SAR. IW T6h H uredl foehed/
T WEAT BT | T F i W Teh 37 ShIeT ST |
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(Read the instructions on last page of this booklet.)
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Where is the Indo-Israel Horticulture
Project located in Haryana ?

(A) Uncha Majra (B) Sirsa
(C) Gharaunda (D) Panipat
(E) Not attempted

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 2002

(C) 1982

(E) Not attempted

(B) 1987
(D) None of the above

In which year Social Forestry Scheme
was started in Haryana ?

(A) 1980 (B) 1999
(C) 1982 (D) 1996
(E) Not attempted

Which of the following diagram indicates
the best relationship between German,
French, Languages ?

(D)

O

(E) Not attempted

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%
and 10%. What is the final selling price of
the item ?

(A) Rs. 1,500

(C) Rs. 1,530

(E) Not attempted

(B) Rs. 1,520
(D) Rs. 1,510

CE7G - 25

RO H S-SRI ST IR
el g 7

(A) ST HSRT (B) femm

(C) =ier (D) "I

(E) r9=mfaa

TS Y 3R I foehrE de ([ATeTE) i
T forg o o i T off 2

(A) 2002 (B) 1987

(C) 1982 (D) 39 H T IS &
(E) 3=nfEa

BT § ATHTiTeh dTf-eh! JieiT fohd oy

& H S At 7

(A) 1980 (B) 1999

(C) 1982 (D) 1996

(E) ITymiyd

frafafiga 7 @ SH-T1 3@ sva, %
SR 9TYI3T o st gaian 99 e9idT @ ?

(E) 3m=fEa

Teh GHMER Ush I W %. 2,000 3ifehd
T & AT 15% d 10% i ShiHeh e ol
7 | 9% 1 Afaw fasha qoa 91 8 7

(A) ®. 1,500 (B) ®. 1,520
(C) %. 1,530 (D) %. 1,510
(E) 3=nfEa
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6.

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Firoz Shah Tughlaq

)
(B) Akbar
(C) Babur
(D) Sher Shah Suri
)

(E) Not attempted
If S denotes x, P denotes —, R denotes +
and Q denotes +, then

14641Q121P100S2R100 = ?
(A) 31 (B) 21
(C) 48 (D) 61
(E) Not attempted

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains

the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?

(A) Only statement 2 is correct
(B
(C
(D
(E

Both statements 1 and 2 are incorrect
Only statement 1 is correct
Both statements 1 and 2 are correct

~ ~— ~— ~—

Not attempted

CE7G - 25

6. BN 4 fHER =1 U I I F w9 A
TTfUd i 1T T8I WTEeh hid AT ?

7. 9 S, x ol g1 &, P, — ! Il g,
R, + bl T3l & AT Q, + bl <MiaT &, ot

14641Q121P100S2R100 = ?

(A) 31 (B) 21
(C) 48 (D) 61
(E) 3=nfEa

8. wiufies 9uRl & SR FAfefad oAl w
foram hifS
O 1 1 S Ted HAR (3TR.T.TH. )
SRR B, STa Tk X i fersteft T 3t
61 A B, q qh TE I 3T Bl ST
TEA1 & | Wl S8 & ferstelt i 31t s
Bl Il 7, veq Ty TEEl (3TR.T.H. ) i
Tt forwer-ag fire <t |
HUA 2 : e THY T (AR.T.H. )
AR W T HARY < €9 | Fehid o
AT B 3R g fgdiaes auil O &R
fearsa =1 gor # oS 2t 2 |
Iuad H | HH-1/T BT GE 2/8 ?
(A) et HH 2 Tl B
(B) o 1 31N 2 gHT wet T &
(C) hadl %Y 1 TEI &
(D) %Y 1 3R 2 g1 T&t &
(E) 3Tomféa

oY%
TR0
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9.

10.

11.

12.

oY%
o5

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

(A E ®)

(©) (D)

(E) Not attempted

Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(A) Narnaul (B) Hisar

(C) Gurugram (D) Karnal

(E) Not attempted

Which major river forms Haryana’s
eastern boundary ?
(A) Yamuna

(C) Sutlej

(E) Not attempted

(B) Saraswati
(D) Ghaggar

What is the historical name of Markanda
river in Haryana ?
(A) Sharana

(C) Varuna

(E) Not attempted

(B) Aruna
(D) Saraswati

10.

11.

12.

CE7G - 25

W § & T 3l b e i fahedt |
& TS BT Rl g w7

?

(A) y ®)

©) J (D)

(E) 3=nfEa

gl 6t form garé ugt 1 faeiest
FaTS Uel off hET ST | 7

(A) TR (B) feam

(C) Team™ (D) =

(E) JT9=mfera

H-H yH@ Fd i i el
T 8 7

(A) FHT (B) Tl

(C) |IqS (D) &

(E) 3anfEa

B0 | AReheT It 1 UdaTies I
G ?

(A) 3om (B) 3reum

(C) =®um (D) TTEt

(E) 3m=nfEa



13.

14.

15.

16.

17.

18.

Phalgu tourist place is located in which
district of Haryana ?

(A) Mahendragarh (B) Jhajjar

(C) Kaithal (D) Jind

(E) Not attempted

Complete the following analogy.
8:24::7:32

(A) 8

(C) 5

(E) Not attempted

(B) 6
1

(D) 10

Which city in Haryana had the first metro
rail ?

(A) Hisar (B) Kaithal
(C) Mahendragarh (D) Gurugram
(E) Not attempted

What does ROM stand for ?
(A) Read Only Memory

(B
(C
(D
(E

) Random Operations Memory
) Random Output Memory

) Ready Open Memory

) Not attempted

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Hisar (B) Panipat

(C) Rohtak (D) Karnal

(E) Not attempted

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Madhya Pradesh (B) Rajasthan

(C) Maharashtra (D) Gujarat

(E) Not attempted

13.

14.

15.

16.

17.

18.
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g & fha et § Bt wier wa
fRme e

(A) HESTS (B) TSR

(C) Hud (D) Sfig

(E) 3T=mfyd
frefafga swedar gof Hifvw |
8:24::7:32

A) 8 (B) 6

) 5 (D) 10

(E) 3manfEa

FITOM o fohd S8t o Ugelt Uel i I®
&I T off ?
(A) TeEr
(C) HeaTTe
(E) STS=mtaa

(B) o
(D) TeIm™

ST, 1 o 31 B 7
(A) T A=t A

TR 1 eE IS S SHYH X,
e 2 e 3Reee (T €3, )
g & fre s g fRa g 7

(A) TeER (B) Ui

(C) Ugdh (D) HTTA

(E) T9=mfa

e &, forg YRl Tsa O fRa § 2

(A) TET T (B) TSTEAH
(C) HERTSE (D) TSI
(E) 3=nfEa

oY%
TR0



19.

20.

21,

22,

23.

oY%
o5

The value of 4\/§/2—2 is

(A) 27°

(E) Not attempted

(B) 2°
(D) o1/6

Which of the following is an example of
an Input Device ?
(A) Speaker

(C) Printer

(E) Not attempted

(B) Keyboard
(D) Monitor

The largest concentration of green house
gases in the atmosphere is

(A) Chlorofluorocarbons

(B
C
D
(E

Nitrous oxide
Methane

)
(©)
(D) Carbon dioxide
)

Not attempted

Which of the following is the smallest
negative integer ?

(B) -3

(D) 0
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca _b_aabc_a_caa

(A) ccab (B) bcbb

(C) acab (D) cbab

(E) Not attempted

19.

20.

21,

22,

23.
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IEHed | M B1=9 il ge §et
Higal &

(A) FAFARIBIST

(B) T3 AT

(C) e

(D) HTeA SIS FTES

(E) TSR

fFafafad o 9 SH-91 T8 BT R[S
iR & 7

(A) —1 (B) -3

(C) -2 (D) 0

(E) ITwmfEa

frefofiga s1er sfeet § $9 317 < 2
T 3Tk A forehed o &9 1 39 39 1 fau
TR | wE T g |

bca _b_aabc_a_caa

(A) ccab (B) bcbb

(C) acab (D) cbab

(E) 3TRTRa
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24.

25.

26.

The 91%! Amendment Act of Indian
Constitution was brought in

(A) 1989

(B) 2003

(C) 2001

(D) 2000

(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a
logical and meaningful order.

1. Scrutiny

2. Application

3. Interview

4. Job offer

5. Joining
(A) 2,4,1,5,3
(B) 2,1,3,4,5
(C) 1,8,2,4,5
(D) 3,1,5,4,2
)

(E) Not attempted

How are computers used in
Communication ?

(A) For advertising and home shopping

(B)

(C)

(D) Via e-mail, video conferencing and
chatting

(E) Not attempted

For managing budgets and payrolls
Through CAD applications

24.

25.

26.
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R Fiae™ &1 91at wned stfufem
AT TR

(A) 1989

(B) 2003

(C) 2001

(D) 2000

(E) ITwmfEa

& Ty 1 5= L Ml drfeheh 3T
e 9 A freforfad gergat <t sewen
1 $fiTd e & |

1. Tty

2. 3TEed

3. HITEhR
4. TR TEAE
5. TS BT
(A) 2,4,1,5,3
(B) 2,1,3,4,5
(C) 1,3,2,4,5
(D) 3,1,5,4,2
(E) STmfda

TAR § X T 39N HH foham S 7 2

(A) Tammam 37X gm wiifue < ferw

(B) S1¢ 3R 90 o Jeed & folw

(C) CAD TSI o HIe9H |

(D) $-7a, sifean swipifem 3t afén &
e |

(E) ITvmfra

oY%
TR0



27.

28.

29.

oY%
o5

Which figure will come in the place of

question mark (?) ?
b [

A )

(A)

(B)

(€)

(D)

A e ] [

(E) Not attempted

The concentric circles on the platter of
hard disk are known as
(A) sectors

(B) circles

D) none of the above

)

)
(C) tracks
(D)

)

(E) Not attempted

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Singers and musicians travelling on a
bullock cart

(B) Women performing folk dance

(C) Farmers ploughing fields

(D) Kings in a battle

(E) Not attempted

27.

28.

29.
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W forg (?) % T W SA-Tf 3T

WAt ?
SRE

&% ®Y H JHE (G132 |

ghemon 6 SfaTen fel § g9 § 918 T8 T
qfd fr=fefaa o & = quidt 8 2
(A) STRTTE! W I hid TEeh 3T Efasy



30.

31.

32.

33.

34.

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 2016(2017(2018(2019 2020
Population| 1.5 | 1.8 [ 21 | 24 | 2.7
(A) 1.2 millions (B) 1.8 millions
(C) 1 million (D) 1.5 millions

(E) Not attempted

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) Coastal Kerala

(B) North-western States of India

(C) North-eastern States of India

(D) None of the above

(E) Not attempted

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(A) Panchkula (B) Chandigarh

(C) Gurugram (D) Faridabad

(E) Not attempted

Which of the following is not correctly
matched ?

(A) 1 TB=1024 GB
(B) 1EB=1024 PB
(C) 1GB=1024 MB
(D) 1 YB=1024 GB
(E) Not attempted

A can complete a job in 12 days and B can
complete the same job in 18 days. If they
work together, how many days will they
take to complete the job ?

(A) 8days (B) 7.2 days

(C) 6 days (D) 7.5 days

(E) Not attempted

30.

31.

32.

33.

34.
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T arfetert 5 a9l | U Wl <l SHEE
(fuferer #) eridt 2 | 2016 & 2020 a6
See | fraft gfg gs 8 7

Eb
TEE
(A) 1.2 faferm (B
C) 1 faferm (D
(E) 3=

T U o Hiy, i SmHdR w 3w g
hgl ST 8, hal Jeied & ?

(A) T B

(B) WRA & ITW-UfyaHl T

(C) YA % IW-T& T

2016
1.5

2017
1.8

2018
2.1

) 1.8 faferm
) 1.5 fuferm

2019
24

2020
2.7

D) SUgd # H IE TEl
(E) ITvmfra
RO TST fENfies ud ATETEAT
TorepTE SUNEH (T9.TH. 3T, 3. SLHT.) <l
gered _ ufemg|
(A) TRt (B) =IgTg
(C) TeI™ (D) wligrETg
(E) 3anfEa

frforitaa & & P—wn v gifera & & 7
(A) 1TB=1024 GB

)

(B) 1 EB=1024 PB

(C) 1GB =1024 MB

(D) 1YB=1024 GB
)

(E) 3anfEa

AT Hr 1 12 Tt § g0 X Tehat g au
B 3 % w1 18 feai & qU KX Heha 7 |
afe I ST Tk 1 HTH R, T B U FE

H 3 fohet e @i 7

(A) 8 fem B) 7.2 17
(C) 6T ) 7.5 e

(E) SR

oY%
TR0



Which canal system of Haryana
originates near Nangal and irrigates Sirsa

and Hisar ?

(A) Gurugram Canal

(B) Jawaharlal Canal

(C) Eastern Yamuna Canal
(D) Bhakra Canal

(E) Not attempted

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

(A) BSh
(B) A
C) A
(D) D
(E) Not attempted

Whatis the value of 10— (2x3) +8+2 ?
(A
(B

CRG)

D

) 6
) 7
) 8
) 5
(E) N

ot attempted

Which of the following is not true for a

parallelogram ?

(A) Opposite angles are equal.

(B) Diagonals bisect each other.

(C) Opposite sides are equal.

(D) Opposite angles are bisected by the
diagonals.

(E) Not attempted

CE7G - 25

g & HI-H T8 Jure! AT
g ¥ fererdt @ 3T firan 3 feam ==
ffaa et 2 7

(A) T&IH "=
(B) StaTEtetrel &l

C) Tt AT T&T
(D) WHEET T
(E) 3m=nfEa

U 6T TS o SFTTER TR STHETG
o SRIY W ! YRR fohaT ST
(A) BSh

i T 3 o e § & FH-a
qa TR 2 7
(A) T 10T ST Ed 2 |
(B) feremut ush @ <1 wE foifrd o6t & |
C) T YSTY S B § |
(D) fospurt gr wrg@ shivT TuH forfoa
B & |
(E) 3romfya



B

39.

40.

41.

42,

Which dance form of Haryana is named

after an ornament worn on the forehead

by young married women ?

(A) Jhumar (B) Gugga dance

(C) Ghoomar (D) Loor

(E) Not attempted

Which of the following is true for
x=9-27 2

(A) x=-3

(C) x=3

(E) Not attempted

(B) Undefined
(D) x=0

Which type of language was used in
Second Generation Computers ?

(A) Assembly language

(B) Object oriented programming

(C) Machine language

(D) High level programming languages

(E) Not attempted

A person incurs a loss of 10% by selling
a watch for Rs. 450. At what price should
the watch be sold to earn 10% profit ?

(A
(B

) Rs. 600
)
C)
)
)

Rs. 750
(C) Rs. 500
(D) Rs. 550

(E) Not attempted
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39.

40.

41.

42,
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BRETOM % -/ T 1 ATHRLT JAT
Terenfea Afgenati gro @19 W 987 M 9Tt
IR W 8 7

(B) T Icd
(D)

x =27 % foru frferfiea o & -
g 7 ?
(A) x=-3
(C) x=3
(E) 3ranfEa

(B) qfiyd
(D) x=0

gl il o Hel o fohd TehR i W

Ueh SAfekd ohl Teh TSI 450 T H S=+ W
10% 1 &1 &It & | 10% &9 HAM
foru wt = Torm Fmd o = S =Tl ?
(A) . 600
(B) ®. 750
(C) ®. 500
(D) ®. 550
)

(E) 3m=nfEa

oY%
TR0



43.

44,

45.

46.

47.

oY%
o5

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Panchkula
(C) Ambala

(E) Not attempted

(B) Kurukshetra
(D) Yamunanagar

A person travels 120 km in 4 hours. If he
increases his speed by 10 km/hr, how long
will it take him to travel same distance ?
(A) 2.5 hours (B) 3.5 hours

(C) 2 hours (D) 3 hours

(E) Not attempted

This protected area contains one of the

last surviving remnants of Delhi Ridge hill

range

(A) Asola-Bhatti Wildlife Sanctuary

(B) Abubshahar Wildlife Sanctuary

(C) Bhindawas Wildlife Sanctuary

(D)
)

(E

Nahar Wildlife Sanctuary
Not attempted

The first jute mill was set up near Kolkata
at Rishra in

(A) 1854

(C) 1855

(E) Not attempted

(B) 1857
(D) 1856

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 50,000 (B) Rs. 40,000

(C) Rs. 30,000 (D) Rs. 15,000

(E) Not attempted
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43.

44.

45.

46.

47.

CE7G - 25

fr=afafaa 9 9 gf@mon s sHa-a1 e
A T o 9 319 HaTd ErEn A g ?

(A) R (B) FxaT
(C) AT (D) JHATT
(E) 3=nfEa

Teh =faq 4 8¢ § 120 Tl 1 amm wtar
2 | Ife 98 a1t nifa 10 Tt /= s

Tar g, @ 99 gt aF i | 39 foha
ug AT ?
(A) 2.5
(C) 2%

(E) 3=nfEa

(B) 3.5
(D) 3%

39 Tiiera & | fooeft e Joft &
sifem Afedcaea™ @ § § U @
(A) ITEAT-TE TS =0T
(B) TSR TS RN

(C) TrsTam™ s=rsie 1=y
(D) A& I=SIe AR
(E) 3=nfEa

SHIcThIal o I TR § gl S e

T Triyd <l e off |
(B) 1857
(D) 1856

(A) 1854
(C) 1855

(E) ITvfra

2 i ASNRBUSs FgEm d3:5%
31U & frow #a & | 99 % 3id # 3=
¥. 40,000 h ATH HHMT | A9 |

AT fopa T & 7

(A) ®. 50,000 (B) ®. 40,000
(C) %. 30,000 (D) %. 15,000
(E) ITvfra



B

48.

49.

50.

51.

Harsha transferred his capital from
Thanesar to

(A) Kannauj

(B) Mathura

C) Pataliputra

D) Delhi

(E) Not attempted

)
(©)
(D)
)

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.

CONSTRUCTION

(A) COINS (B) CAUTION

(C) SUCTION (D) NOTION

(E) Not attempted

Excavations at which site in Fatehabad
district of Haryana have revealed

pre-Harappan culture ?
(A) Mittathal

(B
C
D
(E

Kunal

)
(C) Banawali
(D) None of the above
) Not attempted
A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 11,000 (B) Rs. 12,000
(C) Rs. 10,000 (D) Rs. 13,000

(E) Not attempted
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48.

49.

50.

51.

CE7G - 25
Y 9 19 T U 8 s Eaia
(A) e
(B) ®YU
(C) Treferg
(D) feeett
(E) 3=nfEa
frefafiga woa < fashedi o @ 98 weg TH
7 feu 7T vree & 31T HT 3T Hleh
EHICEIRIRS IR C
CONSTRUCTION
(A) COINS (B) CAUTION
(C) SUCTION (D) NOTION
(E) 3=nfEa
R % wagEe e 1§ fra we

Geré § Y -EET HEp(A I AT el B 7
(A) Timrere

(B) Ut

(C) sHTaIc!

(D) 3w & & IS T

(E) TRt

T o H 25% i ghg i Il & 3R
g B T I T 20% H1e form Srar 7 |
Ife 3ifam 9d9 &, 12,000 &, 1 ITEdfaeh
AT FAT AT 7

(A) ®. 11,000 (B) ®. 12,000
(C) &. 10,000 (D) &. 13,000
(E) 3m=nfEa

oY%
TR0
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52.

53.

54.

55.

oY%
o5

Find the correct mirror image.

N
XY -4
o ﬁ o ‘é

Who was the founder of the Satavahana
dynasty ?

(A) Gautamiputra Satakarni

(B) Hala

(C) Simuka

(D) Vashishtaputra Pulamayi

(E) Not attempted

(E) Not attempted

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.
14, 14, 28, 84, 336, x

(A) 1344 (B) 1680

(C) 1682 (D) 2016

(E) Not attempted

The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Ambala (B) Panchkula
(C) Karnal (D) Yamunanagar
(E) Not attempted
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52.

53.

54.

55.

CE7G - 25

Tl U whafer [ HIT |

XY = Aa
YT ek

(E) 3=nfEa

HTdaTE TSI 1 GEATIh i AT 7
(A) Tt FraeRuft

(B) BTl

() T

(D) afSTsaqa ermrit

(E) ITvmfra

Th @l ¢ 7T 7, e T 0e i g |
feu U foshedi ® @ 97 @@l foshed T S
SRGAT <hl T T |

14, 14, 28, 84, 336, x

(A) 1344 (B) 1680

(C) 1682 (D) 2016

(E) 3afEa

BT 1 ge S 91, HE =@,
fra e o f 2 7

(A) e (B) ket

(C) A (D) FHAR

(E) ITymtyd



56.

57.

58.

59.

60.

The Article 23 and 24 of Indian
Constitution are related to

(A) Right against Exploitation
(B) Right to Freedom of Religion
(C) Right to Equality
(D)

(E)

Right to Freedom
Not attempted

What is the value of sin 90° x cos 0° ?

(A) \@é (B) 1
0

©) WA
(E) Not attempted

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 42" Amendment

(B) 87" Amendment

(C) 44™ Amendment

(D) None of the above

(E) Not attempted

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions 2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(A) 2000 (B) 4000

(C) 1800 (D) 8000

(E) Not attempted

Which traditional ornament worn by
married women in Haryana is a silver ring
worn on the toes ?

(A) Bichhiya
(C) Payal
(E) Not attempted

(B) Jhanjhar
(D) Pali
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56.

57.

58.

59.

60.
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IR Ffae™ @ Tgese 23 3R 24 fhad
Tefa § 7

sin90°xcosO°WﬂF{TﬂT§ 7

(A) xﬁé (B) 1
0

©) D) Y

(E) e

TR Gfaa™ 4 forg genem 3 Hifers
Shaedl bl U fohaT ?

(A) 4231 EeIEA

(B) 87 af GMEA

(C) 44 dT "N

(D) SUH | & HrE T

(E) e

T HE HT AW 40 m, 25 m 3T 10 m
2l1afes@om x 1.25m x 1 m &M 9
TR SEl § W AT 8, af W 9 9Tl

o] hl T B

(A) 2000 (B) 4000

(C) 1800 (D) 8000

(E) 3=nfEa

giemon # foanfea afgenstt gra 36
3ferat & weh =idl it S ST BT T
T ST T8 7

(A) ferfesa (B) 3SR

(C) 9= (D) dTett

(E) 3=nfEa



B

61.

62.

63.

oY%
o5

Consider the following statements related
to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Both statements 1 and 2 are correct
(B) Both statements 1 and 2 are incorrect
(C) Only statement 1 is correct

(D) Only statement 2 is correct

(E) Not attempted

Which number system uses only digits
Oand1?

(A) Hexadecimal
(C) Octal

(E) Not attempted

(B) Binary
(D) Decimal

In the following question, a statement
followed by 2 conclusions is given.

Choose right conclusion which logically
follows the given statement.

Statement : Morning walks are good for
health.
Conclusions : |. All healthy people go
for morning walk.

II. Evening walks are
harmful.
(A) Only conclusion Il follows
(B) Neither I nor Il follows
(C) Only conclusion | follows
(D) Both I and Il follow
)

(E) Not attempted
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61.

62.

63.
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TRE % SR H Hetyd fefaRaa st
‘R’%FII’(W:

HUA 1 : T8 qd 4 ufvel v IR ufve o
ot e & forr 2

HF 2 : qdff Tre 61 g | ufvadt T
Jferes TS T g 3 ST TRaT 2 |
IRd U | HH-91/8 HYT & 8/8 7
(A) o 1 311 2 41 w8l &

(B) o 1 3R 2 I w&l &l &

(C) et S 1 TEl &

(D) et U 2 TE B

(E) ITvmfra

HIT-H T YUTA] shald 0 3T 1 376
39T Lt B 7
(A) TS

(C) ATdea
(E) 3=nfEa

i feu T yvT ° oM 3R 2 fswy fou o
2 | a8 udt frspd g4, S fou T et W
qfeheh 9 & ITLE AT & |
HUA : G§ hl T WA h [ =B
BN 2 |
Freere ;1. meft ey @ geg i MW
I g |
I1. e 6t & FTiET B |
(A) hact TTshy 1| JTTHT LT 8
(B) T I &l Il STTEROT LT B
(C) haet frseh | ILE AT B
(D) 1 3T 1l ST STTEO1 L &
(E) 3Tomfya



64.

65.

66.

67.

68.

The decimal form of 12—1 is

(A) 0.18
(C) 0.018
(E) Not attempted

(B) Not defined
(D) 0.18

Who is the head of a Gram Panchayat in
Haryana ?

(A) Sarpanch

(B) Block Development Officer

(C) District Collector

(D) Panchayat Secretary

(E) Not attempted

The author of the important musicological
text ‘Sangita Ratnakara’ is

(A) Sarangadeva

(B) Tansen

C) Pandit Haridas

D
(E

)
(C)
(D) None of the above
) Not attempted

If Rs. 8,000 invested at a compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 10% (B) 5%

(C) 25% (D) 17.5%

(E) Not attempted

IfA:B=3:2andB:C=3:5, then
A:B:Cis

(A) 6:9:10

(B) 10:9:6

(C) 9:6:10
(D)
(E)

None of the above
Not attempted
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%WWW%

(B) rufeiya
(D) 0.18

(A) 0.18
(C) 0.018
(E) 3=fEa

FIATON | 19 U=RId <kl GREAT i BT g 7

(A) &

Ff¢ %. 8,000 ! Tehalg S & FHAw H
T 399 o7 SIS o ®9 H %. 1,261 I &l
g, dl oIS SIS W FAT G 7

(A) 10% (B) 5%
(C) 25% (D) 17.5%
(E) 3mw=nfEa

Jfe A:B=3:23MB:C=3:58,d
:B:C‘&ﬁ’ﬂ

>
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70.

71.

72.

oY%
o5

Haryana ranked among the bottom five
States in which report released by

NITI Aayog ?
(A
(B

) Fiscal Health Index 2025

)
(C) State Investment Index 2025
(D)

Ease of Doing Business Index 2025

D) Sustainable Development Goals

(SDG) Report 2025
(E) Not attempted

Complete the following analogy.

ACE:FHJ::0QS:
(A) RTU

(C) PUT

(E) Not attempted

(B) UWY
(D) TVX

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Uncle

(B
(C
(D
(E

) Data is inadequate
) Brother

) Cousin

) Not attempted

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema'’ title by British
Government in 1904 ?

(A) Altaf Hussain Hali

(B) Khwaja Ahmad Abbas

(C) Naubhar Sabir

(D) Jaimini Sarshar

(E) Not attempted

~— ~— ~— ~—
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Hife s grr S - e 9

g 1 sifaw afe a=at § wE fen

TR 7

(A) TSIV TETeeT gaehlsh 2025

(B) 51 31Tk g3 forsie g2 2025

(C) TST T gFehish 2025

(D) gaa fasra @iex (T S ford
2025

(E) 3manfEa

frefafaa saEar gt S |

ACE :FHJ:: OQS:

(A) RTU (B) UWY

(C) PUT (D) TVX

(E) 3=nfEa

Teh T T 3T SR H §C oAl Feeh 2,

‘I8 T €Te] % Sohelld ¢ I 91 8 |7 aEiT
1 few ® =R o1 o1 O 1 GEy B 7

fr=afafaa 9 9 <4 sfamn =1 s gfbe
Ig IR o1, g fafes awer gro 1904 |
IH-IA-IAHT <l IATfYy < e oft 7

(A) e EEH BTl
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73.

74.

75.

Central Institute for Research on
is situated at Hisar district of
Haryana.
(A) Buffaloes
(B) Crocodile
(C) Tiger
(D) Deer

(E) Not attempted

What is the role of the Haryana

Renewable Energy Development Agency

(HAREDA) ?

(A) Enforcing the Energy Conservation
Act, 2001

(B) Promoting solar panel imports

(
(D
(E

)

C) Managing coal-based power plants
) Providing electricity to rural areas
)

Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to

Gwalior Gharana ?

(A) Tansen

(B) Bade Ghulam Ali Khan
(C) Amir Khusro

(D) Haddu Khan

(E) Not attempted
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g % feam o T G

gl TR St famm o
(T332 €11, ) hT o ftrehT 2 7
(A) St greaor rffaRm, 2001 1 e
(B) ER ¥e1 3THITAT <l SHT

(C) ST UG Sl AT T TEH
(D) T &1 § foga Iuetey ST

(E) srmed

frafafed § & &9 wfert o &
FRATT % U g W M 9 7
(A) TqTEA

(B) ¢ e 3rcft @H

(C) 3R Tgaa
(D) Bg @™
(E) 3=nfEa
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77.

78.

79.
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English Language

Give one word substitute for the following.

The study of plants is called

(A) Astrology (B) Botany
(C) Bacteriology (D) Sericulture
(E) Not attempted

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you
against this beforehand ?”
(A) His friend asked him if he had not
warned him against that beforehand.
(B) His friend said to him if | had not
warned you against that beforehand.
(C) His friend asked him did he not
warned him against that beforehand.
(D) His friend asked him if he did not
warned him against that beforehand.
(E) Not attempted

Choose the correct meaning of the

following idiom or expression.

Piece of cake.

(A) Join a popular trend or activity

(B) Feeling slightly ill

(C) A job, task or other activity that is
easy or simple

(D) Would never like to do something

(E) Not attempted

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks were handled efficiently by
her.

(B) All tasks are being handled efficiently
by her.

(C) All tasks are handled efficiently by
her.

(D) All tasks have been handled
efficiently by her.

(E) Not attempted
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80.

81.

82.

83.

84.

85.

Choose the correct synonym of the
following word.

Pause
(A) Safe (B) Stop
(C) Start (D) Staff

(E) Not attempted

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money
(A) Car park to the bring the money.
(B) The money bring to the car park.
(C) Bring to the car park the money.
(D) Bring the money to the car park.
(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) I'am angry in you.

(B) I'am angry to you.

(C) I'am angry for you.

(D) 1 am angry with you.

(E) Not attempted

Choose the correctly spelt word.
(A) Perssonal (B) Parsonnel
(C) Personnel (D) Personel
(E) Not attempted

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Fat
(C) Lazy
(E) Not attempted

(B) Ignorant
(D) Sleepy

Choose the correct antonym of the
following word.

Ascend
(A) descend (B) arrive
(C) increase (D) expand

(E) Not attempted
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‘I + 31 = Wy fore S o ST R 7

(A) T
(C) &

(B) a7

(D) dfg

qq 312 W aTet sG] <l R HaEd 7 7
(A) Tehreff wrsg

(B) forcrm wreg

(C) wTIaT wTeg

(D) ¥ & g &

(E) 3Tsrmted
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T e SR wliq 7’
T T # ffafaad wse w9 9 9 @&
TG I Hl AR [TRIY |

(A) HTI-TTY

(B) S-S

(C) =
(D)%ﬂi‘a’ﬁ
(E) ITvmfra

STUTRT, FURIAT, FUFY ATfe Iea

99T % 399 @ |
(A) 35, (B) =Tl
(C) ¥&hd (D) fe=
(E) 3m=nfEa

e’ ek qew weg 7 | ffafaa wedi
T 9 3Hh! TE qeyd Teg IR foIfau |

(A) T (B) Tt
(C) A (D) =S
(E) 3=nfEa
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15.

16.

20.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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TEST CODE : CE7G - 25

T Yiereht S
Question Booklet Number

Candidate’s Roll Number / 31%ff 1 T/t TR

Time Allowed : 1 Hour 45 Minutes Total Questions : 100 Maximum Marks : 100
I 1 " 45 e %A T : 100 RT3 : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

T UY-U i g1 i § U hudl FHHTTRad a9t i Ug
1. 39 oA qfErR § 100 T § | e Yo o fore 1 376 2rm

1. This Question Booklet contains 100 questions with weightage of
1 mark for each question.

2. Before attempting the question paper, kindly check that this booklet 2. JH-A B BA HH H UgA Eapll St o f6 gﬁ%m b DT 24 T53

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5 option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

2 3 30,19, 3. IW I3 h o Ufeai 8 | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot fide % 3t giifted o e
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g sreeff wf Ster W 3% ¢ & SRt | sreeff st Wy we
qfeen! =i o W1 Hehdl & |

T GHTET S TR To-gfEeht S8 ST ST.TH.R. IW T
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.
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A person incurs a loss of 10% by selling
a watch for Rs. 450. At what price should
the watch be sold to earn 10% profit ?

(A
(B

) Rs. 750
)
C) Rs. 500
)
)

Rs. 550

D

(
(D) Rs. 600

(E) Not attempted

Which traditional ornament worn by
married women in Haryana is a silver ring

worn on the toes ?
(A) Jhanjhar
(C) Payal

(B) Pali
(D) Bichhiya
(E) Not attempted

A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 12,000
(C) Rs. 10,000

(B) Rs. 13,000
(D) Rs. 11,000
(E) Not attempted

The author of the important musicological
text ‘Sangita Ratnakara’ is

(A) Tansen

(B) Pandit Haridas
C
D
(E

(C) Sarangadeva
(D) None of the above

)
)
)
)

Not attempted

CE7G - 25

Teh SAfed o1 Teh HS! 450 9 T = T
10% 3hl BT BIet 8 | 10% 9 HAH
fore w<t = form hima 9 s S =iy ?

(A) ®. 750

(B) %. 550

(C) %. 500

(D) ®. 600

(E) TRt

g § foettsa Afgansti g Rl
3nferat § weh =id Y PG G BT I
AT HATYOT 1 B 7

(A) 3T (B) dredt

(C) U= (D) farfesam

(E) TRt

T o H 25% i gfg i I & 3R
q1¢ 0 T I T 20% H1e fordm Srar 7 |

Ife 3ifam oa4 %, 12,000 2, o STEdfereh
IqT T AT ?

(A) ®. 12,000 (B) &. 13,000
(C) . 10,000 (D) ®. 11,000
(E) 3=nfEa

eyt Erfiaemeis TY Gfid e %
TEH &



Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(A) Hisar (B) Karnal

(C) Gurugram (D) Narnaul

(E) Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to
Gwalior Gharana ?

(A) Bade Ghulam Ali Khan

(B) Haddu Khan

(C) Amir Khusro
(D)
(E)

Tansen

Not attempted

Complete the following analogy.
ACE :FHJ:: 0OQS:

(A) uwy (B) TVX
(C) PUT (D) RTU
(E) Not attempted

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Panipat (B) Karnal

(C) Rohtak (D) Hisar

(E) Not attempted

If Rs. 8,000 invested at a compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 5% (B) 17.5%

(C) 25% (D) 10%

(E) Not attempted

CE7G - 25

B 6 fope et ug o faeiee
EEIHRER G R

(A) Temm (B) AT

(C) Teu™ (D) AR

(E) 3T9=mfyd

Frfafaa @ & 9 ErfeRR wwE |
BT % Toh TG Tl T 9 7
(A) S8 AW el @H

(B) g @M
(C) 3 gall
(D) T
(E) TRt

frefeTRea Twewar qui shifere |

ACE : FHJ : : OQS :

(A) UWY (B) TVX

(C) PUT (D) RTU

(E) 3anfEa

TR 1 TEE TSl SA0 UM TR,
e S o 3fReee (1.2 3TR.3TE. )
BT % fore et H TR 3 ?

(A) IHIa (B) HHTA

(C) Trgash (D) feam

(E) r9=mfaa

I %. 8,000 I TEhalg A § Fae w
T 39S S¢S o &9 H 5. 1,261 9T &ld
g, dl IIfSes SIS W F G 7

(A) 5% (B) 17.5%
(C) 25% (D) 10%
(E) 3=nfEa



10.

11.

12.

13.

14.

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Kurukshetra
(C) Ambala

(E) Not attempted

(B) Yamunanagar
(D) Panchkula

The 91! Amendment Act of Indian
Constitution was brought in

(A) 2003 (B) 2000

(C) 2001 (D) 1989

(E) Not attempted

Which major river forms Haryana’s
eastern boundary ?
(A) Saraswati

(C) Sutlej

(E) Not attempted

(B) Ghaggar
(D) Yamuna

How are computers used in
Communication ?

(A) For managing budgets and payrolls

(B) Via e-mail, video conferencing and
chatting

(C) Through CAD applications

(D) For advertising and home shopping

(E) Not attempted

Which of the following diagram indicates
the best relationship between German,
French, Languages ?

(A) (B)

(©) (D)

gl
ele

(E) Not attempted

10.

11.

12.

13.

14.

CE7G - 25

fr=afafga 9 9 sf@mon s sE-a1 e
A TSI o G 379 T ErE o B 7

(A) a?s?éa (B) TR

(C) AT (D) Tl

(E) ITvfra

WA Gfaa™ &1 91t gened stfufem
KIEIRIE

(A) 2003 (B) 2000

(C) 2001 (D) 1989

(E) 3manfEa

- wgE A< ghamon s e =
AT B 7

(A) FT&d! (B) "R
(C) |agqst (D) =g
(E) 3ranfEa

TER H HR T ITANT K foRam ST 2 7

(A) T 3 YA o J&8 & foIw

(B) 3-Td, <fifean si-wifem afiv Afén &
mem o

(C) CAD ST % H1e &

(D) Tt 37X gm i & ferw

(E) 3anfEa

FfcTiad o § -9 @ 5, %4
3R WISt o s gaiad 9y Sidr @ ¢

(E) 3manfEa



15.

16.

17.

18.

19.

Phalgu tourist place is located in which
district of Haryana ?

(A) Jhajjar
(C) Kaithal
(E) Not attempted

(B) Jind

(D) Mahendragarh

If S denotes x, P denotes —, R denotes +
and Q denotes +, then

14641Q121P100S2R100 = ?

(A) 21 (B) 61

(C) 48 (D) 31

(E) Not attempted

The value of 4\/§/§ is

(A) 6 (B) 5116
® >-1/6 (D) 56

(E) Not attempted

The first jute mill was set up near Kolkata

at Rishra in
(A) 1857 (B) 1856
(C) 1855 (D) 1854

(E) Not attempted

Which canal system of Haryana
originates near Nangal and irrigates Sirsa
and Hisar ?

(A) Jawaharlal Canal

(B) Bhakra Canal

(C) Eastern Yamuna Canal

(D) Gurugram Canal

(E) Not attempted

15.

16.

17.

18.

19.

CE7G - 25
g % fora faer § ey wieT woe
fem e 2
(A) TS (B) Siie
(C) et (D) HEETE
(E) STmfed

Ife S, x I gTCT 7, P, — <! €T 7,
R, + bl T3l & AT Q, + bl <MiaT &, ot

14641Q121P100S2R100 = ?

(A) 21 (B) 61

(C) 48 (D) 31

(E) ITvmfra

4322 o1 7 2

(A) 2° (B) 2

() 278 (D) 278

(E) ITvfra

ShIcTeRIdl o I TEr o vgelt e e
T wq1uq hi TS o |

(A) 1857 (B) 1856

(C) 1855 (D) 1854

(E) 3=nfEa

g & - T8t yomet Aier %
e & faeherdt & 3R fawar it fegam @t
fofa st 8 2

(A) STETETAT A&l

(B) HrEst &l

(C) wolf =T T

(D) TRI™ S&l
(E) ITvmfra



B

20.

21.

22.

23.

Complete the following analogy.

8:24::7:32
(A) 6 (B) 10
(C) 5 (D) 8

(E) Not attempted

In the following question, a statement
followed by 2 conclusions is given.

Choose right conclusion which logically
follows the given statement.

Statement : Morning walks are good for
health.

Conclusions : |. All healthy people go
for morning walk.

II. Evening walks are

harmful.
(A) Neither I nor Il follows
(B) Both I and Il follow

Only conclusion | follows
D) Only conclusion Il follows

)
)
C)
)
E)

(
(
(E) Not attempted

A person travels 120 km in 4 hours. If he

increases his speed by 10 km/hr, how long

will it take him to travel same distance ?

(A) 3.5 hours (B) 3 hours

(C) 2 hours (D) 2.5 hours

(E) Not attempted

Which of the following is an example of
an Input Device ?
(A) Keyboard

(C) Printer

(E) Not attempted

(B) Monitor
(D) Speaker

20.

21.

22,

23.

CE7G - 25

frefafga sregar gof i |
8:24::7:32

= feu e e 8§ e 3 2 frsed few o
& | o8 Hel b g, St U e e
dTfeheh &9 & LT a8l |
HAT : YT ! W @A 6 g 31!
B 2 |
et ;1. oft wey @ geg A WM W
S @ |
I1. 3 6 & FTHHES 7 |
(A) T 17 E 1l STTEROT HLT B
(B) | 3T 1 T 3781 HLd &

e SAfed 4 €S T 120 Topwt b1 amm swtar
2 | Ffe 9 Foh i 10 feptft/der W
a1 8, A wuE gt 79w § 38 foma
qug AT ?

(A) 3.5%2 (B) 3%

(C) 2& (D) 2.5

(E) mwanfEa

frafefga & @ &9 g9 feasa w1
3G 7 ?

(A) HiETE (B) AT

(C) firex (D) TRt

(E) 3=



B

24.

25.

26.

27.

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(A) Chandigarh (B) Faridabad

(C) Gurugram (D) Panchkula

(E) Not attempted

Which type of language was used in
Second Generation Computers ?

(A) Object oriented programming
(B
(C
(D
(E

) High level programming languages
) Machine language

) Assembly language

) Not attempted

The Article 23 and 24 of Indian
Constitution are related to

(A) Right to Freedom of Religion
(B) Right to Freedom

(C) Right to Equality

(D) Right against Exploitation
(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a
logical and meaningful order.
1. Scrutiny
Application
Interview
Job offer
Joining
(A) 2,1,3,4,5
(B) 3,1,5,4,2
(C) 1,3,2,4,5
(D)
)

ok~ eb

D) 2,4,1,5,3
(E) Not attempted

24.

25.

26.

27.

CE7G -25
BT TsT SfEnfies U9 STEaEE
TorehT PR (T, TE. 376 37E.SLH.) &
q&e™ Hfere |
(A) =g (B) whitersiTe
(C) eI (D) TR
(E) 3=nfEa

Tl Nl o SRl § fohd TR i W

ST ITANT febam TR o7 7

(A) 3iTssare 3N TuTfT

(B) =9 Tallg TmfHe Wl

C)
)
)

D) 3T8scA! 9o
(E) 3r=fEa

AT FT9™ o T 23 3R 24 fhaa
Tefed 8 7

el faehed =1 =9 L S difehes 3T
qreies A H fAefaiaa segal 6 sgewen

! S0 Lar & |

N N
%



28.

29.

30.

31.

32.

IfA:B=3:2andB:C =3:5, then

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema’ title by British
Government in 1904 ?

(A) Khwaja Ahmad Abbas

(B) Jaimini Sarshar

(C) Naubhar Sabir

(D) Altaf Hussain Hali

(E) Not attempted

Which number system uses only digits
Oand1?

(A) Binary

(C) Octal

(E) Not attempted

(B) Decimal
(D) Hexadecimal

Which of the following is the smallest
negative integer ?
(A) -3
(C) -2
(E) Not attempted

Excavations at which site in Fatehabad
district of Haryana have revealed
pre-Harappan culture ?

(A) Kunal

(B) Banawali

(C) Mittathal

(D) None of the above

(E) Not attempted

28.

29.

30.

31.

32.

CE7G - 25

EI'f%:(A:B=3:23ﬁl’B:C=3:5%,Fﬁ
A:B:Camm

frafafaa 9 9 <4 sfamn =1 s gfbg
Ig IR o1, g fafes awer gro 1904 |
IH-IA-IAHT <! IUTfY < S oft 7

(B) Aftrt BRI

(C) TR TfiT

(D) 3TedTh A et

(E) 3anfEa

HIF-H T JUTTeAT shaed 0 3T 1 37 i
ITANT HA B ?

(A) ST (B) =M

(C) AT (D) THATSETSA

(E) 3manfEa

Frafafea @ @ SiF-o1 998 e RS
QUi @ ?

(A) -8 (B) 0

(C) -2 (D) —1

(E) 3anfEa

R % wdgEe N § fha e w
GeTs ¥ Jd-gwl HEhid T IaqT =1 & 7



33.

34.

35.

36.

37.

What does ROM stand for ?
(A) Random Operations Memory
(B) Ready Open Memory
(C) Random Output Memory
(D)

)

(E

Read Only Memory
Not attempted

Which dance form of Haryana is named
after an ornament worn on the forehead
by young married women ?

(B) Loor

(D) Jhumar

(A) Gugga dance
(C) Ghoomar
(E) Not attempted

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 1987

(C) 2002

(E) Not attempted

(B) 1982
(D) None of the above

The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Panchkula
(C) Karnal
(E) Not attempted

(B) Yamunanagar
(D) Ambala

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 2016|2017(2018|2019 (2020

Population| 1.5 | 1.8 [ 21 | 24 | 27

(A) 1.8 millions (B) 1.5 millions

(C) 1 million
(E) Not attempted

(D) 1.2 millions

33.

34.

35.

36.

37.

CE7G - 25

HAR.3.TH. 1 1 31 § 7
(A) {0 AT J90
(B) &t T AE

(C) T 3M3cYe A9

(D)
(E) 3romfda

BRETOM % -/ T 1 ATHRLT JaT
foranfea wfgemsti gro @19 W wed M AT
T T TR T R

(A) T A (B) T

(D) ¥

TS Ry 3R wmefior foeprg S ([ATaTE) i
T form o 8§ oY S off ¢

(A) 1987 (B) 1982

(C) 2002 (D) 3UFH | T IS T
(E) ITvfra

BTN i TEE S =, HUE =i,
fra e o fm g v

(A) TR (B) IGTN
(D) ITETAT

T arferemt 5 99t d we wgt S SHEEn
(fuferem #) @ridt 8 | 2016 & 2020 d%h
S # ot afg g8 @ ?

ad 2016
SHaE | 1.5
(A) 1.8 faferm
(C) 1 faferm
(E) 3Tomfya

2017|2018 2019
1.8 | 21 | 24

(B) 1.5 faferm
(D) 1.2 fuferm

2020
27




e

38.

39.

40.

In which year Social Forestry Scheme
was started in Haryana ?

(A) 1999 (B) 1996

(C) 1982 (D) 1980

(E) Not attempted

Which figure will come in the place of
question mark (?) ?

A / a & 7
& N

(B) O/I

© | &

(D) /

(E) Not attempted

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions 2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(A) 4000 (B) 8000

(C) 1800 (D) 2000

(E) Not attempted

-10-

38.

39.

40.

CE7G -25
giEmon & arfsres arfaeht e feg ad
& 6l TS ot 7
(A) 1999 (B) 1996
(C) 1982 (D) 1980
(E) 3t

W forg (?) % T W SA-H TR
JRAf ?

A

b2

-

(A)

(B)

(©)

(D)

R [

(E)

Teh AL ST 3™ 40 m, 25 m 3T 10 m
2l1afes@2m x 1.25m x 1 m 3™H I
TR FE H T AT 8, a1 W T O

AT hl T B

(A) 4000 (B) 8000
(C) 1800 (D) 2000
(E) 3romfya



B

41.

42,

43.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

(A) (B)

(©) (D)

]

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%
and 10%. What is the final selling price of
the item ?

(A) Rs. 1,520

(C) Rs. 1,530

(E) Not attempted

(E) Not attempted

(B) Rs. 1,510
(D) Rs. 1,500

The largest concentration of green house
gases in the atmosphere is

(A) Nitrous oxide

(B
C
D
(E

Carbon dioxide
Methane

)
(C)
(D) Chlorofluorocarbons
)

Not attempted
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41.

42.

43.

CE7G - 25

RE s s e A e
& T H-E i T HUh 7

?

(A) (B)

]

Teh GhMER Tsh a%] W %. 2,000 3ifehd
HTAT R qUT 15% ° 10% i hiteh G &al
3 | 9%g 1 3ifaw fasha gear @ B 7
(A) ®. 1,520 (B) . 1,510

(C) &. 1,530 (D) %. 1,500

(E) TRt

(©) (D)

(E) 3Ty

qIgFed § I &9 191 6l gey §
izl @



44,

45.

46.

47.

48.

A can complete a job in 12 days and B can
complete the same job in 18 days. If they

work together, how many days will they
take to complete the job ?

(A) 7.2 days (B) 7.5 days

(C) 6 days (D) 8 days

(E) Not attempted

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 87" Amendment

(B) 44™ Amendment

(C) 42" Amendment

(D) None of the above

(E) Not attempted

Whatis the value of 10 - (2x3) +8 +2 ?
(A) 7 (B) 5

(C) 8 (D) 6

(E) Not attempted

Central Institute for Research on
is situated at Hisar district of

Haryana.
(A) Crocodile (B) Deer
(C) Tiger (D) Buffaloes

(E) Not attempted

Which of the following is not correctly
matched ?

(A) 1EB=1024 PB

(B) 1 YB=1024 GB

(C) 1GB=1024 MB

(D) 1 TB=1024 GB

(E) Not attempted
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44.

45.

46.

47.

48.

CE7G - 25

AT i ol 12 Tt 9 90 X Fehal & qUT
B 3 % i 18 Tl o qU =X Fohell 7 |
afe I ST Tk T T HY, 1 B [ FE

§ 3= fohe T @ ?

(A) 7.2 T (B) 7.5

(C) 6 fer (D) 8 fed

(E) 3Tomfda

TR Gfgem o fore gnes 3 Aifers
shaeal s U feRaT ?

(A) 87 o HRMEH

(B) 44 a1 HeMEH

(C) 4241 HaMEH

(D) 3T # § s T

(E) 3Tomfya
10-(2x3)+8+2H AT FATE ?
(A) 7 (B) 5

(C) 8 (D) 6

(E) TRt

ghamon & feaw § T G
IEYH T T 7 |

(A) TRAS (B) few

(C) == (D) ¥

(E) 3Tomfya

Fraforiaa o & H-ar @ gofera 78 & 7
(A) 1 EB=1024 PB

(B) 1 YB=1024 GB
(C) 1 GB =1024 MB
(D) 1 TB=1024 GB
(E) 3Tomfya



e

49.

50.

51.

This protected area contains one of the
last surviving remnants of Delhi Ridge hill
range

(A) Abubshahar Wildlife Sanctuary

(B)

(©)

(D) Asola-Bhatti Wildlife Sanctuary
(E)

Nahar Wildlife Sanctuary
Bhindawas Wildlife Sanctuary

Not attempted

Which of the following is not true for a

parallelogram ?
(A) Diagonals bisect each other.

(B) Opposite angles are bisected by the

diagonals.
(C) Opposite sides are equal.
(D) Opposite angles are equal.

(E) Not attempted

Find the correct mirror image.
gk "k

) Not attempted
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49. 39 ed & o feoeft vdd ooft &
JAfam S1fedcaem 3RS 4 4 T 8

50. o I & fore fmafofaa @ @ sF-=
I TE B 7

(A) feremnt weh B <1 Tu feforg o6t & |

(B) faeputt g1 Tog@ hivr a9 farfoa
B2 |

(E) 3=fEa



52.

53.

54.

55.

What is the historical name of Markanda
river in Haryana ?

(A) Aruna

(B) Saraswati

(C) Varuna

(D) Sharana

(E) Not attempted

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.
14, 14, 28, 84, 336, x

(A) 1680

(C) 1682

(E) Not attempted

(B) 2016
(D) 1344

Who is the head of a Gram Panchayat in
Haryana ?

(A) Block Development Officer

(B) Panchayat Secretary

(C) District Collector
(D)
(E)

Sarpanch
Not attempted

The concentric circles on the platter of
hard disk are known as

(A) circles
(B) tracks
(
(D
(E

)
)

C) sectors
) none of the above
)

Not attempted
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52.

53.

54.

55.

CE7G - 25

g o areser 7 %1 Uegries am
B ?

(A) 3T=UT

T G & TS 7, e T e I § |
few e foepedi © @ 97 wdl fashe 9w
SRGAT <l T T |

14, 14, 28, 84, 336, X

(A) 1680 (B) 2016

(C) 1682 (D) 1344

(E) 3ToRmféa

ERATOT B U Y=RId <l GREAT i BT & 7
(A) s fasm arfeeprdt

(B) TG Tiaa
(C) ﬁwﬂm
(D) &=
(E) 3=nfEa
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56.

57.

58.

Haryana ranked among the bottom five
States in which report released by
NITI Aayog ?

(A) Ease of Doing Business Index 2025

(B) Sustainable Development Goals
(SDG) Report 2025

(C) State Investment Index 2025

(D) Fiscal Health Index 2025

(E) Not attempted

The decimal form of 12—1 is

(A) Not defined  (B) 0.18
(C) 0.018

(E) Not attempted

(D) 0.18

Consider the following statements about
Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains
the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?
(A) Both statements 1 and 2 are incorrect
(B) Both statements 1 and 2 are correct
(C) Only statement 1 is correct
(D)

)

(E

Only statement 2 is correct
Not attempted
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56.

57.

58.
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Fifa s g S wa-E ol o
g i Jfaw uier Tsat § T fean
TR ?

(A) 391 3T 3 foeig 529 2025

(B) Tad forepm weg (v\.h.sf.) fad
2025

(C) T far gaehls 2025
(D) TSTeRINTY TTET Fhich 2025
(E) ITvfra

2

ﬁwww%

(A) 3TOfeTio (B) 0.18

(C) 0.018 (D) 0.18

(E) 3=nfEa

Trfies AA & 91 A f=fafga st
formm ShifsTu

F 1 : UeH ToHE T (A.T.TH.)
SRR B, STa b S i fereteft 1 3yl
I STt 7, a9 ok TE THH ST <l §41T
T & | S 3 & st B gl o
Bl ST 7, 0eH T T (SI.TTH.)
uft forr-ag fire <t 2 |

HUA 2 : eH THHY T (AR.T.H. ) I
IR W G HARY < €9 § gehifd
M1 8 3R I8 T Tl a1 i
feared <t g o o B © |

Suad § W HIH-T1/T HUF G 2/2 7
(A) U 1 3R 2 3T w1 TET &

(B) Ho 1 31N 2 a1 wE &

(C) hadl HUT 1 TRl &

(D)

(E) 3anfEa
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59.

60.

61.

What is the role of the Haryana
Renewable Energy Development Agency
(HAREDA) ?

(A) Promoting solar panel imports
(B)
(C) Managing coal-based power plants
(D)

Providing electricity to rural areas

Enforcing the Energy Conservation
Act, 2001
(E) Not attempted

Consider the following statements related
to Deccan Plateau :

Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.

Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Both statements 1 and 2 are incorrect
(B)
(C)
(D) Both statements 1 and 2 are correct
(E)

Only statement 2 is correct
Only statement 1 is correct

Not attempted

Which city in Haryana had the first metro

rail ?

(A) Kaithal

(B) Gurugram

(C) Mahendragarh
(D) Hisar

(E) Not attempted
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59.

60.
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g Fefrertelia St fasm o
(T332 €11, ) hT o ftrehT 2 7
(A) IR U9 AT 1 SGHT

(B) TTHioT & T fererd Suetes AT

(C) ShIFET 3N il I T IS
(D) St |t rfafrm, 2001 1 Yo
(E) ITvfra

TRE o Y3R | HEtud FEfaiad syAl
Wﬁﬁlﬂﬁm:

HUA1: YT IG | dreaHl "¢ AR ufvan |
vt ume @ for @ |

HUA 2 : Qe T1e 6 gorr § ufvadt T
Fiferes s W R 3 3fees R R |
Swfa # | HH-U1/8 HYT TE /T ?
(A) o 1 3R 2 gH1 wel & &

(B) shdcT YT 2 HEl B

(C) had o 1 981 &

(D) A 1 3R 2 aHI T&l &

(E) 3Tomfya

g % fore et # vgelt A1 W@ &
&I g off ?

(A) A

(B) TeI™

(C) HegTTe

(D) feam

(E) 3T9=mfyd



62.

63.

64.

65.

66.

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Data is inadequate

(B) Cousin
(C) Brother
(D) Uncle
(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Mathura

(C) Pataliputra
(E) Not attempted

(B) Delhi
(D) Kannauj

Who was the founder of the Satavahana
dynasty ?

(A) Hala

(B) Vashishtaputra Pulamayi

(C) Simuka

(D) Gautamiputra Satakarni

(E) Not attempted

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Women performing folk dance

(B) Kings in a battle

(C) Farmers ploughing fields

(D) Singers and musicians travelling on a
bullock cart

(E) Not attempted

What is the value of sin 90° x cos 0° ?

(A) 1 ® )
(C) 0 ) \/Eé

(E) Not attempted

-17-

62.

63.
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65.

66.
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Th T 1 F 3 A BT T el 2,
‘98 T €Te] % Sohelld ¢ I 91 8 |7 aET
T fog @ =afed o a1 9 T EEY B 7

(A) TP 39T B
(B) == TS
(C)*mé
(D) ==
(E) 3m=nfEa
B 3 IO T AHE § SR
A) BYT (B) faeett
(C) urefagx (D) I
(E) 3Ty
HIaaTed TS T TEATTeh hid T 7
(A) BT
(B) afSrsaqa gt
(C) T
(D) TaHIg Acehuit
(E) 3ranfEa
RN % arer et ° gu | q18 S U

qfd frfefaa & & = guidt 2 2

(A) THIea T T Hfge

(B) Th gg | T

(C) ©a Arad1 Fh

(D) STRTE! T I hid TR 3T Fflasy
(E) 3anfEa

sin90°xcosO°<‘=FfﬂF{7=|€IT% ?

(A) 1 ® )
©) 0 ) 2

(E) 3m=nfEa



67.

68.

69.

70.

71.

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

(A) Am (B) Df
(C) Af (D) BSh
(E) Not attempted

Where is the Indo-Israel Horticulture
Project located in Haryana ?

(A) Sirsa (B) Panipat

(C) Gharaunda (D) Uncha Majra
(E) Not attempted

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Akbar
(B) Sher Shah Suri

(C) Babur

(D) Firoz Shah Tughlaq
(E) Not attempted

Which of the following is true for
X=3-27 2

(A) Undefined (B) x=0
(C) x=3 (D) x=-8
(E) Not attempted

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(A) Rs. 40,000
(C) Rs. 30,000

(B) Rs. 15,000
(D) Rs. 50,000
(E) Not attempted
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71.
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HI T JurTelt & IFTHR AT ITHRTE
% SR W ! YRR fohaT ST
(A) Am (B) Df
(C) Af

(E) 3=nfEa
RO T SSI-3oa STaT GRS
Fal fd g ?

(D) BSh

(A) Tozan (B) U
(C) =ieT (D) ST AT
(E) 3Tv=mtyd
TN T fEar 1 U g et 6 ®9 4
@]Tﬁﬁ ondd dlcdl Yadl Alden °|'>QH g 7
(A) KSET I
(B) w=me T
(C) ST’
(D) TSt T8 et
(E) 3Tomfya
x = ¥-27 % feru freferfiaa & & -
qa8 7
(A) ST (B) x=0
(C) x=3 (D) x=-3
(E) 3=

AT ASRBUS FGEI H3:5%
U & % d € | 99 % 37 H 3=
%. 40,000 T ATH HART | ATH |

A w1 Tepam T & 7

(A) %. 40,000 (B) %. 15,000
(C) %. 30,000 (D) %. 50,000
(E) TRt



B

72.

73.

74.

75.

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) North-western States of India

(B) North-eastern States of India
(C) Coastal Kerala
(D)
(E)

None of the above
Not attempted

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.
CONSTRUCTION

(A) CAUTION

(B) NOTION

C) SUCTION

)
(C)

(D) COINS

(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca_b_aabc_a_caa

(A) bcbb (B) cbab
(C) acab (D) ccab
(E) Not attempted

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Rajasthan

(B) Gujarat

(C) Maharashtra
(D) Madhya Pradesh
(E) Not attempted
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WY U & BV, T8 AR W/ 3| St
shgl STl 2, hal Jaidd 8 ?
(A) YT & IT-Ufvadt T

(B) YR % I~ T

(C) T A

(D) 3uderd # § s T

(E) 3=nfEa

freferfgd w6 foehedl ® @ a7 g A
St feu U 316 & &R T ITFT Hich
T ST ST Gl B |
CONSTRUCTION

(A) CAUTION

(B) NOTION

(C) SUCTION

(D) COINS

(E) 3Tomféa

frafafed s1er sfaen § 3 31e) I« 8
ST 35k i forehew o &9 1 37 9 A feu
M 7 | Ha foreheq 9 |
bca_b_aabc_a_ caa

(A) bcbb (B) cbab

(C) acab (D) ccab

(E) 3ranfEa

gftrg srerar e, 5 S Terd
e &, fpe yRdT s 4 fea 8 7



76.

77.

78.

79.

80.

CE7G - 25

English Language

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks are being handled efficiently
by her.

(B) All tasks have been handled
efficiently by her.

(C) All tasks are handled efficiently by
her.

(D) All tasks were handled efficiently by
her.

(E) Not attempted

Choose the correctly spelt word.
(A) Parsonnel (B) Personel
(C) Personnel (D) Perssonal
(E) Not attempted

Give one word substitute for the following.
The study of plants is called

(A) Botany (B) Sericulture

(C) Bacteriology (D) Astrology

(E) Not attempted

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money

(A) The money bring to the car park.
(B) Bring the money to the car park.
(C) Bring to the car park the money.
(D) Car park to the bring the money.
(E)

E) Not attempted

Choose the correct antonym of the
following word.

Ascend

(A) arrive

(C) increase

(E) Not attempted

(B) expand
(D) descend
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81.

82.

83.

84.

85.

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Ignorant

(C) Lazy

(E) Not attempted

(B) Sleepy
(D) Fat

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you
against this beforehand ?”
(A) His friend said to him if | had not
warned you against that beforehand.
(B) His friend asked him if he did not
warned him against that beforehand.
(C) His friend asked him did he not
warned him against that beforehand.
(D) His friend asked him if he had not
warned him against that beforehand.
(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

Piece of cake.

(A) Feeling slightly ill

(B) Would never like to do something

(C) A job, task or other activity that is
easy or simple

(D) Join a popular trend or activity

(E) Not attempted

Choose the correct synonym of the
following word.

Pause
(A) Stop (B) Staff
(C) Start (D) Safe

(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) 1 am angry to you.

(B) I'am angry with you.

(C) I'am angry for you.
(D) I am angry in you.
(E) Not attempted



86.

87. °

88. °

89.

‘AT’ e T Hal 31 21
(A) 3Ted (B) 3e<d
(D) 32

IR [ I

1&g I i TR Tl |

“SITT SfaTE ST || Ueh RIS B, $Hh Tl
319 &1 ferfay |
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90.

o1.

92.

93.
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UM 374 W 9Tt IG) hl AT HEd § 7
(A) foreTm w1sg

(B) TATIET= 2eg

(C) wHreT g

(D) ST & g T

(E) 3mw=nfEa

IYeTEh 191 ohl Bight T+t ThR &
R o 37 H form <1 SR
fopa ST # |

(A) 39

(B) 14

C) i

D)

(E) 3Tsfed

Y

TE + 31 = wErd’ for GfY o s g ?
(B) dfg
(D) T

(A) T
(C) &=
(E) ITvmfra
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94. it ferrur foreft =afa, woft areran seq i

95.

96.
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97.

98.

99.

100.
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Ifisn’ Tk o T8 7 | Fefeiaa wsep

T U 3Hh! TE qeyd Ieg IR foIfau |
(A) T (B) =TT

(C) e (D) e

(E) TRt

‘STt ofid et B’ 38 AP B 7

(A) AT

(B) geiw

(C)

(D) g™

(E) 3Tomféa
“Iremaes B § ey forgad € 17 97
a1 fope Topam =1 SerEwr @ 2

(A) el

(B)

(C) "M==
(D) SRR
(E)

H

:

STUTRT, FURIAT, FUFY ATfe Iea

W9 o 39T 2 |
(A) ST
(B) f&=<
(C) w&Fdl
(D) 3§,
(E) 3Tomfda
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9.

15.

16.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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